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goooogn

[> restart;

OnOD0OO0DO0O0OO0OO0OO0O000
> srn := (1-n"3)/(3*n+1);

1—n

= 1
] Srn 3141 1)
_DDDDDDDDDDsquDDDDDDD
> seq( srn, n=0..10 );

13 63 31 215 171 511 999

| Lo, —1, 57 137 4° 19 ° 117 25° 26, 31 )
(h=0..1000
> sum( srn, n=0..10 );

1016815333

8422700 )

[Ooooooooooo0
> plot( srn, n=0..10 );

0=

_10_

_20_

_30_

ooo0oooboboooboobobboobooboobobboobDoobooboboDboobDooboobon
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goboobooboboooboobobboobooobooo

FXAk Math 1= Fowuk FoF—% 3

2,539, 0,699 e v 11 &8 A @ e HH
OnoO0ODOO
> srn;
3
1 —n
S — 4
i 3n+1 ()
[DOO0ONOInfinityDOOOO
> sum( srn, n=0..infinity );
i - ®)
DooooOo
oooo
O0O00infinityDDOOONDOODODOOOODOOODODOOOODOOOOn0O00O0D0O00OD0OO0O
00000000000000000000000000000000000000000000
> plot( srn, n=0..infinity );
0 1
oo
n
_w—
OnOOOO0O
> srn;
3
1—n
_— 6
i 3n+1 (©)

[Doooooo
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limitOOoooOoo

> limit( srn, n=infinity );
Cw (7)
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Yoo

goooogn

[> restart;

1
oo ijDDDDDDDD

1
o0 ——ooao
x—1

> fn 1= 1/(x-1);

Jn = (8)

[x=1000

> limit( fn, x=1);

undefined &)

oooooOoOOOOOODOOODODODOleftObODOx=1000000000D0D0O

> limit( fn, x=1, left );
- (10)

OOOright0d00x=1000000000000

> limit( fn, x=1, right ):
o0 (11)

1
D0000000000000 —— 000000000
DA77 avdiscont=trued 00000000000

1
go ﬁDDDDDDDD

> plot( fn, x=0..5, y=-100..100 );
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100

-100 -

1
go ﬁDDDDDDDD

DA 7o avdiscont=true0 0000000 OOOOOOO

> plot( fn, x=0..5, y=-100..100, discont=true );
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100

-100 -

ooooooboobobooboobobo

0000000000000 00000000000000000Student000000O0O0O0OOOOOO
O000 PrecalculusO LimitPlotODOOOOOOOOOO

> Student[Precalculus][LimitPlot]( fn, x=1, view=[ 0..5, -100..100 ] );

7/ 53



BeEEEE o XY MIED [ZLHTD Maple

100

-100 -
The limitof f(x) =

1 atx =1 depends on the values f/(x) assumes
¥ —

near x= 1.

oDodooooooooooooooooooooogooooobobooooobooooboboooonog
goboobooboboooboobobboobooobooo

= 2 W Math 1] o=k

I4 @ [» pIREDI L—Ls 1 | I v = vrps: | 10

S B O

D)

| [> #terminator
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Yoooooooo
obobooooooobooo
|:> restart,;

x00gopooo/bo0oboo

> f := sin( a*x )/cos( a*x );
sin(ax)
= - 12
i S cos(ax) (12)
d M xgooooobooa
> df := diff( f, x );
i cos(ax)2
gooooooooooooo
> simplify( df );
8 (14)
cos(ax)
O000Osin(ex) DOOO0D0OXxO0O0000000OO
> f2 := sin( a*x );
f2 = sin(ax) (15)
> diff( f2, x, x );
-sin(ax) a* (16)
dooo0oodooooooooooooos$oooaon
> diff( f2, x$2 );
-sin(ax) a* @an
xOnOOO0O0OO0O0GOO
> diff( f2, x$n );
sin(ax + nTn ) a' (18)

OooooocoopbOooOoOooooOoobpbiffi0bOo0oO0oDoOo0o0oooooooooooooooo
ooooooo0oDoOoO0oDoOoOooDoOoUoOoDOoOUOboDbDOvalueDbOOooDOoOoOooO

> Diff( f2, x$2 );
* .
—— sin(ax) (29)
ax
> value( (19) ) ;
—sin(ax)a2 (20)
0000000000 $0seqi 000000000 O0ODOOOODOODOOOOODOOOOOOODOOO
0000oooooooobooooooooooooooooooog

OO00000O0O00x,x,xxx000
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\ 4

[ODooooo$000000

> x$5;
| xaxa xaxax (21)
[seq0 000000000
> seq( x, i=1..5);
B X, X, X, X, X (22)
1—n
00000000 ——— 000000000 #000000
3n+1
> (1-n73)/(3*n+1) $ n=0..10;
13 63 31 215 171 511 999
i L0, ~1, 57 137 4° 19 ° 117 25° 26, 31 (23)
> seq( (1-n”3)/(3*n+1), n=0..10 );
13 63 31 215 171 511 999
i L0, ~1, 5° 137 4° 19 ° 11> 25° 26, 31 (24)

gdoooooo
oooooooooooo
[> restart;

VDDDDDDDDDDDDDDD

00000000000 sin000000000Xx0y000g(x,y)0000000

= xM2*sin(y + a);

> g
g = xzsin(y +a) (25)
000000000 sn0000000000O0O0DOO0 g000000OD0O0O0O0O0O0OOODOOOO
00000000000 plotsODO0OO0OO0animated0O00OO0OO0OOOO
xO0ooooo
> xmin := -(3/2)*Pi;
xmax = (3/2)*Pi;
) 3in
xmin ‘= - —/—
2
3w
xmax = —— (26)
| 2
yoooooo
> ymin := -Pi;
ymax := Pi;
ymin :==-T
ymax ‘=T (27)
OooooeOOoonO
ONZA—%4q0 3003700000000 0000000000000
> amin := -3*Pi,
amax := 3*Pi;
amin :=-3T

70\
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|_ amax ‘= 3T (28)

goooooobooooboo
000000000000 animate0000D0O0OOOODOOODOODOOOO

plots[animate](000O0D0O0O00O, [ 0000OODOOOOOO ], OO0ODOOOOOOOO
)

googoo

with( plots );
animate(000O0ODOOOCO, [ O0OO0OOOOODOOO 1, ObOoOoOOOOCOOOOO);

eanimate0 000000000 framesO0OOD0OOOOODOODOOOOODOODOOOOODOO
EBEEDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD

eplot3dI 000000000 axesO00O0DOO0OO0O0DOOOO0O0DOOOODOOOO boxedd O
0000000000 0bOouobOOoDdframeDODO0O0OO0OOONnoned00OOONnormalDOnOO O
goooboooog

> g; # 0000000OOOOOCODOODOOO
x = xmin..xmax; # 0000000000 ODOOOOOOOO
y = ymin..ymax; # 0000000 O0O0OOO0OCOOODOOOO
plots[animate]( plot3d, [ g, #00000( plot3d )
X = xmin..xmax, # xOOOOO( plot3d )
y = ymin..ymax, # y 0O0OODOO0O( plot3d )
axes = boxed ], # 0000( plot3d )
a = amin..amax, #0000000000(C animate
)
frames = 50 ); # OOOOO0O0OOd( animate )
2 .
x“sin(y +a)
3n 3w
X=-——.—Q7
2 2

y=-T.T
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a=-9.4248

a)0000000000000000000000O00O0O

goooboobooboobgooo

FHZF  Math @mEW FoOsk
14 @ [ plEEDT L—i |1 —— s 0 (H&]/EA O

ubooobdobgOxobooooboobooooobooboooooboooonboonn

> dgx := diff( g, x );

i dgx = 2xsin(y + a) (29)
> dgx; # 000000000O00CODOODO0O0
x = xmin..xmax; # 0000000000 OOOOOOOOO
y = ymin..ymax; # 0000000 O0O0OOO0OCOOODOOOO
plots[animate]( plot3d, [ dgx,
X = Xmin..xmax,
y = ymin..ymax,
axes = boxed ],
a = amin..amax,
frames = 50 );
2xsin(y +a)
3n 3w
X=-—".—"
2 2

y=-T.T
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a=-9.4248

XN, A7
MR S B
NSNS 3557700470

A SATAL

o

# y '",‘* *J’;:‘ri.r*"’

G0 O Jo bd O30 b0 s O 03

yO0OOOxOOO0OOOOOOsin(y+a)0000000000000000O00O0OOOOO0

Voooooooo

OoOOOOgOxOOOOOODOODOOODOdgxODDOODODDOD

> dgx = diff( g, x );
dgx = 2xsin(y + a) (30)

OO000yOOooOoDOOOddgxyOOOOooooOoOd

> ddgxy := diff( dgx, y );
ddgxy == 2xcos(y +a) (31)

uboobdghxbOyobooboboooboobooo

> diff( g, x, y);
2xcos(y +a) (32)

ddgxy0OODOODOOOOOOO

Oo0o000o0O0DOO0O0oOOoOoOoOoDODIff0OD0O0OO00OD0OODO0ODOODOODOODOODODO
0000000000000 0D00DO00DO0D0O0DbO0O0DO0ODbO0O0ODvaluebOODOODODDODO

DDgxy = w (xzsin(y +a)) (33)
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>
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> value( DDgxy );
2xcos(y +a)

gooooooboooooooooo

xOxO0yooooooobooo

> DDDgxxy := Diff( g, x,x,y );

DDDgxxy = 623 (x2 sin(y +a))
i x“oy
yxOxOooooobooog

> DDDgyxx := Diff( g, y,x,x );

DDDgyxx = 632 (xzsin(y—l—a))

Oyix

DDDgxxy(l DDDgyxx 0 0 000000000

(xzsin(y +a)) ooo

ey
> value( DDDgxxy );
i 2cos(y +a)
5 (xzsin(y-l-a)) ooo
Oyix
> value( DDDgyxx );
2cos(y +a)

000 2cos(y+a)0000000
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goooogn

[> restart;

gobooboobobobooboobuooboooboobooboxboobooboobooo

0000000000000 00000000000e*%sin(ax),cos(ax) 000000000000 O0O0O0O
gooooooooooobooooooooooooooboooooooooooooooooooooao
0000000 0000O000ooooooooooooooon
0000000000000 00oo0U00o0oo0U000o0o0Uooo00oo0oo0ooooooooooon
O0000oo000oo00ooooU0oooooooooooooooooog
O0sin(x)00x=00000000000S500000000000
> serl := sin(x) = series( sin(x), x=0, 5);
. 1
serl = sin(x) =x—€x3+0(x5) (39)

o(¥’) 0000000 N0DNO0000N0DN00000N00N0000000

1
OO000O0(x°) =sin(x) - [x— Zﬁ)

1
ooooooo sin(x)DDDDDDDDDx—Z 3+0(¥)0000000000OIhsOO0O0OO0DOOO0

O0O0OdO0rhsOODOOOODODOODOODOODO

> lhs( serl );
| sin (x) (40)
> plot( lhs(serl) );
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1_

0.5 7

oooobooboooa
o000 -m0m
ooo -1.00 1.0

> plot( Ihs(serl), view = [ -Pi..Pi, -1.0..1.0 17 );
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1_

0.5

0000000000

> plot( Ihs(serl), view [ -Pi..Pi, -1.0..1.0 ], numpoints=300 );
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1_

0.5

1
DDDDDDDDDDDx—gx3+0(x5)DDDD[IDD[IDD

> rhs( serl );

X — %x3+0(x5) (41)

> plot( rhs(serl), view = [ -Pi..Pi, -1.0..1.0 ], numpoints=300 );

Warning, unable to evaluate the function to numeric values in the region:

see the plotting command's help page to ensure the calling sequence is
correct
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1_

0.5

gboooboooboobobooog

0000000 o(x»)00000000000000000000D00000o00o0oUo0oooooon
00000000000 O0(x») 0000000000000 000D0000000O0OOoUoOOn

> poll := convert( rhs(serl), polynom );

1
poll :Zx—gx3 (42)
O00o(x»)000000000000000000000000000000000Oo0o0oOoOoOooOOOn
oodooboboooooono

> plot( [ Ihs(serl), poll ], view = [ -Pi..Pi, -1.0..1.0 ], numpoints=300 );

19 / 53



B o XY MIED [ZLHTD Maple

1_
0.5
I I I I I I
3 -2 -1 ] 1 2 3
i X
£0.5 -
_1_
000 x=00000000000000000000D000000O0O0ODO0O000O0OOOOO0OO0O0OOoOn
dodoodooooooooooooooooooog
sin(x)DDx=0DDDDDDD24DDDDDDDDDD
> ser2 := sin(x) = series( sin(x), x=0, 24 );
. 1 3 1 5 1 7 1 9 1 11
2= SR S I S o 43
ser2 = sin(x) =x = o+ Y T 5020 © T 362880 © T 39916800 (43)
+—1 x13— I xls-i- 1 x17
6227020800 1307674368000 355687428096000
_ 1 M 1 21!
121645100408832000 51090942171709440000
1 23 24
i 25852016738884976640000 +0(x")
goododoooooooooood
> pol2 := convert( rhs(ser2), polynom );
_ . 13 1 5 1 7 1 9 1 1 1 13
pol2i=x =X+ X = a0 T 360880 ¥ 39916800 © T 6227020800 © 44

1 MEN 1 L7 1 19
1307674368000 355687428096000 121645100408832000
1 2 1 23
51090942171709440000 25852016738884976640000

+

oobooboobobooobooboboboobooobooboooon
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> plot( [ Ihs(ser2), pol2 ], view = [ -Pi..Pi, -1.0..1.0 ], numpoints=300 );

1_
0.5 1

T T T T T T T T T T T T

3 -2 -1 | 1 2 3

| X

-0.5
_1_

gbooobgoobobobooboobgoobon

> plot( [ Ihs(ser2), pol2], view = [ -5*Pi..5*Pi, -1.0..1.0 ], numpoints=300 )
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1_

0.5 7

gboobooboboobooboobobboboobooboooboboo

O00sin(x) 000000 pol20000err20000000

> err2 := sin(x) - pol2;

5 7 9 11 13
o B X X x X X B X
err2 = sin(x) =X+ 5" =0 5020 T 362880 T 39916800 6227020800 (45)
15 17 19
+ X . X + X
1307674368000  355687428096000 ' 121645100408832000

21 23
X + X

i B 51090942171709440000 25852016738884976640000
> plot( err2 );
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0.4 1
0.2
[ — — 7T r T T [ - r T r T T T r T 1
-10 -5 0 5 10
i X
-0.2 A
-0.4

00000 sin(x) +cos(x) 000000Xx=0000 60000000000

> ser3 := sin(x) + cos(x) = series( sin(x) + cos(x), x=0, 6 );
ser3 :=sin(x) +cos(x) =1 +x — lxz— 13 + 1 44 Lx5 +O(x6) (46)
2 6 24 120

gooobgooobgo

> pol3 := convert( rhs(ser3), polynom );

— L2 s 14 1 s
pol3 :==1+x 7 X p + A + 20 * 47)

> plot( [ Ihs(ser3), pol3 ], view = [ -Pi..Pi, -2..2 ], numpoints=300 );
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2_
1
T T T T T T T
0 1 2 3
X
-1
-9 -
oooooooooooooooboboOoooooOoooooOooooo
O0O0Dod0o0OOooO0U0oooOoooogoooooooo
> pol3 := convert(rhs(ser3), polynom );
rhs(ser3)
_ _ Lt L3 1 4 1 5 6
=1+x 2x 6x+24 +120 +O(x)
> pol3 := convert(sin(x) + cos(x), polynom );
sin(x) + cos(x)
1 » 1 3 1 4 | 6
=1 ——x——= — —
tx— X =X+ o +120x+0(x)
> pol3 := convert(series( sin(x) + cos(x), x=0, 6 ), polynom );
series( sin(x) + cos(x), x=0, 6 )
RN ST IS SV S SRR
=1+x 2x 6x+24 +120x+0(x)
oooooooooboooooooogooobooog
rhs(ser3) = series( sin(x) + cos(x), x=0, 6 )OOODOOOOOODOODOODOOODOOODOO
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> pol3 := convert( series( sin(x) + cos(x), x=0, 6 ), polynom );
— _ Lt s 14, 1 s
pol3 :==1+x 5y X p + A + 0 * (48)

gboobgooboboobgoobobooobooboooboopooboooboobooboboobag

=ls
> f = sin(x) + cos(x);
| f=sin(x) + cos(x) (49)
[Ooo
>p = 0;
| p=0 (50)
=ls
>k = 6;
i k=06 (51)
> pol3 := convert( series( f, x=p, k ), polynom );
— R RS U RS S SV SR
pol3 ==1+x 7 6x+24x+120x (52)

obooobobobobooobooboboo

> f := sin(x) + cos(x);
p:=0;
k := 6;
pol3 := convert( series( f, x=p, k), polynom );
f=sin(x) + cos(x)
p=0
k=6
— L2 s 14 1 s
pol3 :==1+x 7 X 6~ + A + 20 * (53)

gboobobooobooboooboboo

00000 numpoints=300000000000000O00O0OOOOOOOOOODOOODOOODODODODODODO
oooo

> plot( [ Ihs(ser3), pol3 ], view = [ -Pi..Pi, -2..2 ], numpoints=300 );
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2_

[ZLHTD Maple

> plot( [ f, pol3 ], view

-2 -

OOOOrhs(ser3)00fO000000DOOOO0ODOOOOODOOOOODODOO

=] -Pi..Pi, -2..2 ], numpoints=300 );
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2_

gbobooboboobgoobooboo

> f = sin(x) + cos(x);
p := 0;
k := 6;
pol3 := convert( series( f, x=p, k), polynom );

plot( [ f, pol3 ], view = -Pi..Pi, -2..2 ], numpoints=300 );

f+=sin(x) + cos(x)
p=0
k=26
1 » 1 1 1 5

3:=1 e = — X —
po +x 2x 6x+24 +120x
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2_

-2 -

OoOoo0obOo k0100 30000000k=1..300000O0O0O00oOooOoOoOoOobDoOoOd

> seq3 := seq( convert( series( f, x=p, k), polynom ), k=1..3 );

seq3 = 1,1+x,1—|—x—%x2 (54)

0000100 24000k=1..2400000000000000O0O0O0O0O0O0OOODO: DODODODOODODOO
|:> seq24 := seq( convert( series( f, x=p, k), polynom), k=1..24):
O000000000000OO0O0O0OO0ODOODOOOOO

> pltl := seq( plot( [ f, convert( series( f, x=p, k), polynom ) ], view = |
-Pi..Pi, -2..2 ], numpoints=300 ), k=1..3);

pltl == PLOT(...), PLOT(...), PLOT(...) (55)

> plt2 := [ seq( plot( [ f, convert( series( f, x=p, k ), polynom ) ], view =
[ -Pi..Pi, -2..2 ], numpoints=300 ), k=1..3) 1;

plt2 .= [PLOT(...), PLOT(...), PLOT(...) ] (56)

OO00O0PLOT(.)ODOOOO0O0000O0Oplotdplot3dI0O0O0O0OOOO0O00000000OOOOO
O0O0PLOT(.) 000000000 Oplots000000displayl0000000000000 displayD
0000000 PLOT(.)00OO0D0000000000O0O0O0O0OOO00[ ]0000PLOT(.)00O000O
00000000

displayODOOOOODOOOODOOOOOOOOOOOplotsOOO0OO0ODOOOODODO

|:> with( plots ):
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insequence = trued000ODO0O

plt2 == [PLOT(...), PLOT(...), PLOT(...) |

do0o0oboboooooooooboooooooooboooa

> display( plt2, insequence=true );
2_

[N

oooooodooooooooboooooobooooboobooboooooooboobooobaon
ooooboo0oooOoboooooobooboboooobooDo

FEAE Math foma o=k FoA—%al

14 @ [ PIREDT L 1 [ v evrps: | 10 | 2le|90 & @i

oooenOOOOO

> N = 6;
[ N:=6 (57)

k=1.NOOODOOOODOOOOODOOOoOooo

> plt2 := [ seq( plot( [ f, convert( series( f, x=p, k), polynom ) ], view =
[ -Pi..Pi, -2..2 ], numpoints=300 ), k=1..N ) ];

plt2 := [PLOT(...), PLOT(...), PLOT(...), PLOT(...), PLOT(...), PLOT(...) ] (58)

displayODOQOOOODOOOOODOOOODOOO

[> display( plt2, insequence=true );
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2 —

1

I I I

0 1 2 3

X
- 1 —
- 2 -

oooobogooboooo

> f := sin(x) + cos(x);
p := 0;
N := 6;
plt2 :

= [ seq( plot( [ f, convert( series( f, x=p, k), polynom ) ], view
[ -Pi..Pi, -2..2 ], numpoints=300 ), k=1..N ) ];

display(plt2,insequence=true);

f=sin(x) + cos(x)
p=20
N:==6
plt2 == [PLOT(...), PLOT(...), PLOT(...), PLOT(...), PLOT(...), PLOT(...) ]
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2_

[HN

gbodxgboooboooboboboodg

> f = sin(x) + cos(x);
p:=0;
N :=15;
Xxmin = -2*Pi;
Xxmax := 2*Pi;

plt2 := [ seq( plot( [ f, convert( series( f, x=p, k), polynom ) ], view =
[ xmin. xmax, -2..2 ], numpoints=300 ), k=1..N ) ];

display( plt2, insequence=true );

f=sin(x) + cos(x)

p=0
N:=15
xmin ‘=-2T

xmax ‘= 2T
plt2 == [PLOT(...), PLOT(...), PLOT(...), PLOT(...), PLOT(...), PLOT(...), PLOT(...),

PLOT(...),PLOT(...),PLOT(...), PLOT(...), PLOT(...), PLOT(...), PLOT(...),
PLOT(...)]
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2 —
/\ |
T
-6 0
-1-
-2 -

sin(x) + cos(x)"2;

plt2 := [ seq( plot( [ f, convert( series( f, x=p, k), polynom ) ],
view = [ xmin..xmax, )

N

numpoints=300 ),
k=1.. ;

) 1

display( plt2, insequence=true );

-2.

f=sin(x) + cos(x)2

p=0
N:=24
xmin ‘=-2T

xmax ‘= 2T

PLOT(...),PLOT(...), PLOT(...) ]
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000O0fo0O000000 sin(x) + cos(x) O sin(x) +cos(x)2DDDDDDD

2]

[ZLHTD Maple

plt2 == [PLOT(...), PLOT(...), PLOT(...), PLOT(...), PLOT(...), PLOT(...), PLOT(...),
PLOT(...), PLOT(...), PLOT(...), PLOT(...), PLOT(...), PLOT(...), PLOT(...),
PLOT(...), PLOT(...), PLOT(...), PLOT(...), PLOT(...), PLOT(...), PLOT(...),



PR

goooogon
goooobgo

PolEYMiES [FLHTD Maple
2 —
/\/\ ) ,

-2

= -6 -4,-3 -1,0,1,2,3,4,5,60 0000000000

elDU0O0O0OnoUoDbOoOnOgx , -5, , -2,
gobogoboooboobgooboooooboobooboobobooobog

f :=sin(x) + cos(x);

p := 0;

k := 6; # 00

Pmin := -6; # O0D0OOO0OO
Pmax := 6; # OOOOOO0O
xmin := -3*Pi;

xmax := 3*Pi;

plt2 := [ seq( plot( [ f, convert( series( f, x=p, k), polynom )],
view = [ xmin..xmax, -2..2 ],
numpoints=300 ),
p=Pmin. Pmax ) 1;

display( plt2, insequence=true );

f=sin(x) + cos(x)

p=0

k=26
Pmin = —6
Pmax == 6
xmin :=-3T

xmax ‘= 3T

plt2 == [PLOT(...), PLOT(...), PLOT(...), PLOT(...), PLOT(...), PLOT(...), PLOT(...),

PLOT(...),PLOT(...), PLOT(...), PLOT(...), PLOT(...), PLOT(...) ]
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O
goond
ooooooo
> restart;
000 «f(x) 000000 ¢0000
> int( a*f(x), x );
Jaf(x)dx (59)
=> simplify((59) ) ;
a (jf(x) dx) (60)
0000000 f(x) +2(x) 0000000
> int( f(x)+g(x), x ):
(70 +gx) ax (61)
=> expand( (61) ) ;
[[£00 @+ [ ax (62)
Doo 100000
O00Ox+CcO000000000 0000000000000 MapleDOD0O0O0O0O000000O
>int( 1, x )
i X (63)
000 ~00000
> int( x"a, x );
)(l+1
i a+1 (64)
B 1
0o0 —00000
T> int( 1/x, x ):
i In(x) (65)
[ f(x)
000 %, 00000
> int( ( diff( f(x), x )/f(x) ), x );
i In(f(x)) (66)
000« 00000
> int( exp( a*x ), x );
eax
I 3 (67)
(000 sin(ex) 00000
> int( sin( a*x ), x );
(RR)
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Y

o (XY WFES
_ cos(ax)
i a
(000 cos(ax) 0000 D
> int( cos( a*x ), x );
sin(ax)
a
aono oooono
cos(x)2
> int( 1/cos(a*x)"2, x );
sin(ax)
i cos(ax)a
0(O)0tanD 00000000
> convert( (70), tan );
tan(a x)
a

(0000000000000 D00000000

> fl := sin(x)*cos(x)"3;

i f1 == sin(x) cos(x)3
> int( f1, x );

cos(x)4
4

(0000000000000 D00000000

> f2 1= x*sin(x);
i f2 == xsin(x)
> int( f2, x );

sin(x) —xcos(x)

gdf00ooooo00oooooooooooooooooooa
Oo0o0bo0ooooooooboooooooon
> f3 1= x/(x"2+x-2);
X

3=
i X +x—2
> int( f3, x );

2In(x +2) In(x—1)
3 + 3

ooboooooooboobooboobooon

> f3a := convert( f3, parfrac );

o 2
Ba= ST Y310

=> int( f3a, x );
2In(x +2) n In(x—1)
3 3

gog

goooooo
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[> restart;

gooooooboobobooboobooboog

> int( f(x), x=a..b );

b

jf(x)dx (80)
0O00000oooon
> int( 1, x=1..3);
i 2 (81)
0O00O0000O000OoOo0n
> int( exp(x), x=0..2);

—l—i-e2 (82)

oobooooorgoooobooboomntgboobooboboboobooboobooboobooon
0000oOo000DOOo0o00oDoOOo0O0oDoDoOoOO0oDooOUOOoDOvalueDOoDOOoDOOoOOO

> Int( exp(x), x=0..2);

J & d (83)

=> value( (83) ) ;

-1 4¢° (84)
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VYoooo
ooooooo
|:> restart;

ODoooo
O0y=f(x)000 [¢4]00000000000000000LO

b
L=JJ1+{ﬂxH2M

| oo

odooo0y=x(0<x<1)OOoo_rLoooood

>yl 1= x;
yl ==x

ylogooooooooobgooobooo

> plot( yl, x=0..1);
1_

0.8 1
0.6 -
0.4

0.2

[ZLHTD Maple

(85)
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b

L=J vV 1+{j'(x)}2 dxO0O00O0O000O0O00O0Ooa
a

f(x)DODOO0OO0OdylODODOOOO

|:> dyl := diff( y1, x );

dyl =1 (86)
V1+{f(x)¥?* Diyl0OOOOO0O0OOOO
> iyl ;= sqrt( 1 + dylr2);

ivl =2 (87)

b
DDDL=J\/1+{f(x)}2 &ODO000000O0 x=a..b0x=0..10000000
a

|:> L1 :=int( iyl, x=0..1);

Ll =2 (88)
OO00000000y=xyx (0<x<1)000LO000000O

> y2 1= xX*sqrt( x );
(89)

y2000000000

> plot( y2, x=0..1);
1_

0.8 -
0.6 1
0.4

0.2
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ooIEY RIS
Vit {/(n)¥2 0iy2000 000000

> iy2 = sqrt( 1 + (diff(y2, x) )2 );

V4 +9x

iy2 = )

b
DDDL=J\/1+{j’(x)}2 &OO0D0000000x=a..b0x=0..1000000
a

> L2 :=int(iy2, x=0..1);
L2:=—%+%
0@@loooooooo
> L2 :=simplify( L2 );
L2:=—%+%

ooboooooboobooooon
->000oobooboooooboobooboobuoobooboboobg

>L :=(y,a, b)->int(sqrt( 1 + (diff(y, x) )*2 ), x = a ..

b

L= (y,a,b)—>J/l+(§xy)2 dx

a

gobOdbOyldOoby20000000

[DooooDoooon
>vyl;
i X
[ODoDoooo
>vy2;
X3/2

oooooooobooLOx=0..10000y1000y200000000000

([00000000000000
> L(yl, 0, 1);
i V2
OoDoDoDo000o0
> L(y2,0,1);

8, 1313
i 27 27
oooooLl=+20000
> evalf((88));
i 1.414213562
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00000 L2=-—5 4 1B3Y13

27 27 oooo

> evalf((92));
1.439709874 (99)

0yl=x000y2:=+1%0x=0..1000000000000

> plot( [ y1, y2 ], x=0..1);
1_

0.8

0.6 1

0.4

0.2

Yoooooo

ooooooo
[> restart;
[Dooooo
O00y=f(x)000 [¢,p]0000 f(x) 20000000000 y=f(x) Jx000000000000
0000000 sO0

b

Szzn[qu) 14/ (x)? dr

a

Esfalalin

gooooobooooooboooosbooogooo

{> S := (fx, a, b ) ->2*Pi*(int( fx * sqrt( 1 + ( diff( fx, x ) )*2 ), x
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b

0 2
S= (foa b)—2n Jﬁc/1+(afx) dx (100)

a

gbobobOxpobobooboobooobobooboobooobo

OO0O00y=x (0<x<1)
Oo00y=2yx (0<x<1)

oooooor-o0o0b00o0o s

Voooo,=2 (0<x<1)

OOylOOOoOoOoOoooo
>yl = x"3;
yI:=x3 (101)
yl1Ox=0..10000000000000000
> plot( y1, x=0..1);
1_
0.8
0.6 1
0.4+
0.2 4
0 T T T T T T T T T 1
0 0.2 04 0.6 0.8 1
X
StudentOOO0O0O0O Calculusl1O00000O0O0OOOO0O SurfaceOfRevolutionO0OOOO
D000x0000000000000000D0000000D00D0O00000 scaling=
constrainedJ 00 0000O0OOO0OOOOOOOOOO
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PolEYMiES [FLHTD Maple
> pltl := Student[Calculusl][SurfaceOfRevolution](
y1l, # 00
x = 0..1, # 0000000
output = plot, # 00000000000
transparency = 0.5, # OO0 o0.00 1.0 00O

scaling = constrained ):

plots[display]( pltl );

The Surface of Revolution Around the Horizontal Axis of
f(x) = x"3
on the Interval [0, 1]

_E]DDE]yDDDDDDDDDDD

> plt2 := Student[Calculusl][SurfaceOfRevolution](
yl, # OO
x = 0..1, # 0000000
output = plot, # 00000000OOOO0
transparency = 0.5, # 00O0 o.00 1.000
axis = vertical, #0000

scaling = constrained,
surfaceoptions = [ color=blue ] ): #0000

plots[display]( plt2 );
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The Surface of Revolution Around the Vertical Axis of
f(x) = x"3
on the Interval [0, 1]

0000000000
> plots[display]( [ pltl, plt2 ] );
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The Surface of Revolution Around the Horizontal Axis of
f(x) = x"3
on the Interval [0, 1]

00doobOoOSsSooooooooooooobooboddylodoooooooooooooosiono
ogoood

> S1 :=S(vyl, 0, 1);

[ SI :=2n( Sé;_o —i) (102)
odsioooooood

> simplify( S1);

[ n(lO\/zl?—l) (103)

0000 Student[Calculusl][SurfaceOfRevolution]0O00O000O0D0O00OOOOODOOOO
od
> Student[Calculusl][SurfaceOfRevolution]( y1, x = 0..1);
n(10y10 —1) (104)
27
Vooooy=2y7 (0<x<1)
O0y2000000000
> y2 = 2*sqrt( x );
y2:=2x (105)
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y20 x=0..1000000000000000O0O

> plot( y2, x=0..1);
2_

1.5

0 0.2 0.4 0.6 0.8 1
X

StudentOOO0O0O0O CalculuslOOOO0OO0OO0OO0ODOOOO0O SurfaceOfRevolutionOOOOO

O00OxO0000OD0OO0O0O0O0OOO0ODOO00OO0bOO0obOOoU0obO0oDOobOOOoDOOobDOobObOOn scaling=
constrainedO0O000O0OD0OOOOODOODOOODOODOO

O00Omacrod0000O0OO0OStudent[Calculusl][SurfaceOfRevolution]OODOOO0O
OOCsurfrdd000C0OCOOOOCOOOQOOOOOOOOOOOOOOOOOOOOOOO
O0000O0O0O0O0O0OO0O0O0OO0OOOOO0OO MapleDODODOOOOOODOOOOOPIOINfinityD
gooooOoOoOoOoOoOoOoOOoOOoOOoOOOoOoOoooo

> macro( surfr = Student[Calculusl][SurfaceOfRevolution] );

surfr (106)
> plt3 = surfr( y2, # 00O
x = 0..1, # 0000000
output = plot, # 00O OOO0ODOOOO
transparency = 0.5, # 000 0.00 1.000
scaling = constrained ):

plots[display]( plt3 );
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The Surface of Revolution Around the Horizontal Axis of
f(X) = 2*x™(1/2)
on the Interval [0, 1]

OO0O00yOOoOoODOOOODOO axis = vertical

O
> pltd = surfr( y2, # 00O
x = 0..1, # 0000000
output = plot, # 0000000Oo0Ooad
transparency = 0.5, # 000 0.00 1.000
axis = vertical, #O0000O

scaling = constrained,
surfaceoptions = [ color=blue ] ): #0000

plots[display]( pltd );
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The Surface of Revolution Around the Vertical Axis of
f(X) = 2*x™(1/2)
on the Interval [0, 1]

0000000000
> plots[display]( [ plt3, pltd ] );
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The Surface of Revolution Around the Horizontal Axis of
f(X) = 2*x™(1/2)
on the Interval [0, 1]

000000 SsSOdooooboooooobooooy20000000O0O00O00OooOOnO s200
agooao
> S2 :=S(y2,0,1);

O
O
[ S2==2n(—%+¥) (107)

gbos200000000

|:> simplify( S2);

“(_lgzﬁ) (108)

0000 Student[Calculusl][SurfaceOfRevolution]O0 000000 surfrd0onooon
coooooooo
> surfr(y2, x = 0..1);
8T 16V2m
-5 T3 (109)

VDDDDDD rgbogog s

00y=JR2—2 (-r<x<A0x0000000000000000000

OOy3000000000d
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|:> y3a 1= eval(y3, [r=11);
y
oad

PolEYMiES [FLHTD Maple
=osqrt( rh2 - xN2 ),
y3 = P —x (110)

y3a =+ 1—x (111)

3all x=-1..100000000000000000 scaling=constrained0000O00O0DO0O0O
ooooogoo

> plot( y3a, x=-1..1, scaling = constrained );

> Student[Calculusl][SurfaceOfRevolution]( y3a, # 00O
x = -1..1, # 000
oooo
output = plot, # O0O0O
oooooood
transparency = 0.5, # 000
0.00 1.0000
scaling = constrained );
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The Surface of Revolution Around the Horizontal Axis of
f(X) = (1-x"2)N(1/2)
on the Interval [-1, 1]

a

0000000 sSO0Oooooo [-1,1]00000y3a000000000000000000
oo

> S(y3a, -1, 1);
41 (112)

0000 000000004740 r=10000000000

> eval( 4*Pi*r22, [ r=11);
4T (113)

0000 Student[Calculusl][SurfaceOfRevolution]0O00O000O0D0O00OOOOODOOOO
o0

> Student[Calculusl][SurfaceOfRevolution]( y3a, x = -1..1);

47 (114)

Yooooooo
ooooooo

|:> restart,;

god

z=f(x,y) D DOa<x<bc<y<d00O00O000O000
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L ”Df(xd’)dx‘iy:ﬂdf(x,y) dydx=LdLbb(x,y) dydx

a-“c

ooo DDDD” (@ —y)dxdy (D:0<x<1,1<y<2)00000000
D

> fxy = x"2 - vy;
fryi=x" =y (115)

000000000 Xx,yO0ODODODODO fxyoOOplot3dO0 0000000000000 O0O0O0O0O0O0O
goboboooboobooooooo

> plot3d( fxy, x=0..1, y=1..2, axes=boxed );

0.5

]

A
Ty

1.5

o o

1.2 02

1.4 0.4

1.3 0.3

intd000000O0xO0yO0OOOO0O0OO0OO0OO0DOOOO0DOO

> V1 :=int( int( fxy, x=0..1), y=1..2);

vie=-"L (116)

6

O00o0ooooooOooooo|Igopooo0ooo0oooo0oooo0ooooooooogg
ooopooooooogooo
> V2 :=Int( Int( fxy, x=0..1), y=1..2);

21

2
V2= [ [ (2 —y) dxdy (117)
170
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valueOOOOOODOODOOODOODOOOODOO
> value( V2 );

-~ (118)

(0)2011 00000000000 Allrights reservesd.
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HEN

Jognoo
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-J0ooboobon
JO00obobooboobon
-J0ooboobon
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goooood
[> restart;

OO0O0O0DC0O00O LinearAlgebral0O00000D0OOOODOODO

> with(LinearAlgebra);
[ &x, Add, Adjoint, BackwardSubstitute, BandMatrix, Basis, BezoutMatrix, BidiagonalForm, QD

BilinearForm, CARE, CharacteristicMatrix, CharacteristicPolynomial, Column,
ColumnDimension, ColumnOperation, ColumnSpace, CompanionMatrix,
ConditionNumber, ConstantMatrix, ConstantVector, Copy, CreatePermutation,
CrossProduct, DARE, DeleteColumn, DeleteRow, Determinant, Diagonal,
DiagonalMatrix, Dimension, Dimensions, DotProduct, EigenConditionNumbers,
Eigenvalues, Eigenvectors, Equal, ForwardSubstitute, FrobeniusForm,
GaussianElimination, GenerateEquations, GenerateMatrix, Generic, GetResultDataType,
GetResultShape, GivensRotationMatrix, GramSchmidt, HankelMatrix, HermiteForm,
HermitianTranspose, HessenbergForm, HilbertMatrix, HouseholderMatrix,
IdentityMatrix, IntersectionBasis, IsDefinite, IsOrthogonal, IsSimilar, IsUnitary,
JordanBlockMatrix, JordanForm, KroneckerProduct, LA _Main, LUDecomposition,
LeastSquares, LinearSolve, LyapunovSolve, Map, Map2, MatrixAdd, MatrixExponential,
MatrixFunction, MatrixInverse, MatrixMatrixMultiply, MatrixNorm, MatrixPower,
MatrixScalarMultiply, MatrixVectorMultiply, MinimalPolynomial, Minor, Modular,
Multiply, NoUserValue, Norm, Normalize, NullSpace, OuterProductMatrix, Permanent,
Pivot, PopovForm, QRDecomposition, RandomMatrix, RandomVector, Rank,
RationalCanonicalForm, ReducedRowEchelonForm, Row, RowDimension,
RowOperation, RowSpace, ScalarMatrix, ScalarMultiply, ScalarVector, SchurForm,
SingularValues, SmithForm, StronglyConnectedBlocks, SubMatrix, SubVector, SumBasis,
SylvesterMatrix, SylvesterSolve, ToeplitzMatrix, Trace, Transpose, TridiagonalForm,
UnitVector, VandermondeMatrix, VectorAdd, VectorAngle, VectorMatrixMultiply,
VectorNorm, VectorScalarMultiply, ZeroMatrix, ZeroVector, Zip ]

Yooooo
000 Matrix0OOOOOOOOOOOOO
000rxc0000000000000000000000000000000000000000000
oooooo
> M22 := Matrix( 2, 2 );
00
M22 = (2)
00
(> M33 := Matrix( 3, 3):
000
M33:=100 0 (3)
=> M23 := Matrix( 2, 3);
000
M23 = 4)
000
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O0000O000000000000000 ZeroMatrixOOOOOOOOOOO

> 733 := ZeroMatrix( 3, 3 );
00O
7Z33:=,00 0 ()
00O

goosogbgoboboboboobogoobobooboooboobo

> M33a := Matrix( 3,3, 5);

555
M33a:=|5 55 (6)
555
EEEEEEEEEEDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD
> M33b := Matrix( 3,3, [ a, b, c, d, e, f, g, h,il);
a b c
M33b:=|d e f (7)
g h i

godoooooooobootooooooboooooooooonooono
> M33c := Matrix( 3,3, symbol=a );
a1 9,2 4953

M33c:=| Gy 1 Gy 5 Gy 3 (8)

a3 1 43, 433

O000< >00000000000000000
> M33d ;= <<1,2,3>!<4,5 6>!<7,8,9>>;
1 47
M33d= |25 8 9)
369

00000000 IdentityMatrixD0OOOOODOOOOO
> E33 := IdentityMatrix( 3 );
1 00
E33:=[010 (10)
001

00000000 DiagonalMatrixUOODODOODOOODOO

> D33 := DiagonalMatrix( [ a, b, ¢ 1);
a 00
D33:=10 b 0 (11)

00 ¢
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0oo0doooooooooooooodooooooooooooon
> M22f := Matrix( 2,2, [ sin(a*x), cos(b*x), exp(c*x), f(x)] );

sin(ax) cos(bx)

M22f =
e S(x)

OdoOoOoOoO0oOoOdiffOO0O0O0D0O0OO0DOO0OXxOO0OOOOOOOOOOO0O

mapO0OOO0OO0
> map( diff, M22f, x );
cos(ax)a -sin(bx)b
ce™ [ (x)
- ooooooooo
> diff"( M22f, x );

cos(ax)a -sin(bx)b

ce™ f(x)

Oo0o0o0CcoOd0intd000C0O00O0OO0OxDOOOOODOOOODO

mapO0O0OOOO0O

> map( int, M22f, x );

[~ ooooooooo

> int"( M22f, x );

OO00OmapUO0O000O0O0OO0OOOO0ODOOODOODOOODOODOODOODOO

Yoooooooo

gboooboooobooooon

|7MatriXDDDDDDDD #0000 ADOD
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(12)

O000000000000000 RandomMatrixODOOOOOOOOODOOOOOOOOODOOOOO
o
> M33e := RandomMatrix( 3,3 );
27 99 92
M33e:=| 8 29 —31
69 44 67

(13)

(14)

(15)

(16)

17)
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> A := Matrix( 2,2, symbol=a );

A=

oooooooc<  >00000#0000000

AA =

[Matrix0OO0OOOOO O#0000BOOO

> B := Matrix( 2,2, symbol=b );

Cll,

612,

1 4,2

1 %

a

> AA = < < a[l,1] ) a[1,2] >, < a[2,1]  a[2,2] > >;
a1 4,2

a1 4,

by by,
B =
by by
[O#0000C
> C := Matrix( 2,2, symbol=c );
€11 “1,2
C =
61 92
gdodooooooooono
OO0
> A + B;
aj tby a1 b,
ay tbyy ay,t by,
_[][]D[]MatriXAddDDDDDDDDDDD
> MatrixAdd( A, B );
a1,1+b1,1 a1,2+b1,2
a2,1+b2,1 a2,2+b2,2
OO0
> A - B;
a1,1_b1,1 a - b1,2
a2,1_b2,1 ) bz,z
OO0

doooooboooooboOo . oobooooobo

> A.B;
a1,1b1,1+a1,2b2,1

a, 1b1, 1 +a2,2b2,1
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az,lbl,z"'az,zbz,z
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(18)

(19)

(20)

(21)

(22)

(23)

(24)

(25)
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Wb 5K
[DoooooO
> A.BA(-1):
ay,1by 5 B ay,2by 1 B ay1by o
bl,lbz,z_bl,zbz,l bl,lbz,z_bl,zbz,l, b1,1b2,2_b1,2b2,1
+ a1,2b1,1 ‘
b1,1b2,2_b1,2b2,1 ’
ay 1by 5 B a 265 ) ay 1by,5
b1,1b2,2_b1,2b2,1 bl,lbz,z_bl,zbz,l’ bl,lbz,z_b1,2b2,1
+ az,zbl,l H
i b1,1b2,2_b1,2b2,1

A
EDA-B'IDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD

> Matrixlnverse( A );

_MatrixlnverseDDDDDDDDDDDDDD

a >

aj ,

Ay 14y o~y 24y

a

Ay 14y o~ Ay 24y

a1

Ay 14y o~y 24y

A0 A0000000000000000

> AN

> De

> Al

"> Ra

> A2

> Ra

(-1);

)

Ay 14y o~y 24y

ay -

) 14y 4y 24y

a;

>

) 19y oAy 24y

ap

b

terminant( A );

Ay 14y o~y 24y

_DeterminantDDDDDDDDDDDDDD

Ay 14y o~y 24y

) 14y~ ay 24

[RankOOOD0O0O00000000OO

= eval( A, [ a[1,1]=1, a[1,2]=0,
a[2,1]=1, a[2,2]=1 ] );

nk( Al );

10
I 1

Al =

2

= eval( A, [ a[l,1]=1, a[1,2]=2,
al[2,1]1=3, a[2,2]=6 1 );

nk( A2 );

1 2
36

A2 =
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| 1 (33)

goboobooboobopooboob#0000ONIOD0DODOO

> N1 := Matrix( 3,3, [ a, b, c,d, e, f, g, h,i]l);
a b c
Nl=|def (34)
g 1
[MatrixNormOOODOOODO0O000000OO
> MatrixNorm( N1, 1);
| max (|a| + |d| + g, |b] + le| +|Al, || + T +1i]) (35)

O00OmaxOOO00D0O000000O0000O0O000D0O0,;,0000000000

ooooooboboogbooboooooboo#0bbooNIO0OgDooo

> N2 := Matrix( 3,3, [ 1, -2, 3, -4, -5, 6, -7, 8, -9 1 );
1 -2 3
N2:=| —4 —5 6 (36)
-7 8 —9
OON200000000000
> MatrixNorm( N2, 1);
18 (37)

00000 max(|a| +|d| + g, |b] +lel + Al |c| +|ff +1{)0000000000000000

> max( abs( 1) + abs( -4 ) + abs( -7 ),
abs( -2 ) + abs( -5 ) + abs( 8 ),
abs( 3 ) + abs( 6 ) + abs( -9 ) );

18 (38)

Yooooo

goooooo

|:> restart,;
ggoobobbooooobbobooooooboo

|:> with( LinearAlgebra ):
oooooooo:0o0bo00oo0obobbooogono
(00 mMOOO

> M := Matrix( 6,6, symbol=m );

(29)
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my | My, My 3 My 4 My 5 Mg

my | My, My 3 Ny y My 5 My g

My | M3 My 3 My y My 5 My g

i

M = (39)
My | My o My 3 My 4 My 5 My g

Mg | M5 H M5 3 Mgy Mg 5 Ms g

Mg | Mg o Mg 3 Mg 4 Mg 5 Mg g

_TransposeDDDDDDDDDDDDD

> Transpose( M );

my | My | My My Ms g Mgy

> s

my o My 5 My o5 My o Ms o Mg o

> s

my 3 My 3 My 3 My 3 Mg 3 Mg 3
(40)
My g My g My g My g Mgy Mgy

> s

my s My s My 5 My 5 Mg 5 Mg 5

>

>

my ¢ My ¢ My g My g Ms g Mg g

OO0004%’000000000000000000
> MA%T:

my My My My Mg Mgy

> s k)

(41)

[ODoooo

> M[ 1, 1 ];
m (42)

> M[ 2, 3 ];

m, 5 (43)

gobobooboobooboobooobuooboobobooboobon

> M[ 1..3, 1..3 ];

my o my My

my | My 5 My 3 (44)

My My My

gobobooboobooboobooobuooboobobooboobon
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> M[ 4..5, 3..6 ];
My 3 My 4 My 5 My ¢
(45)
Ms 3 Ms g Ms 5 Ns ¢
goooooooooooo
> M[ 1, 1..6 ];

my @ My o My 3 My oy My s My g (46)

gboooboooobooooon

> M[ 1..6, 1];

(47)

0-100000000000000000m0d0000000DO0x00D000DO00DODOO

googon
goboobooboobgoobobooboobuoobooobon
oooon

O
O
O goo0o00o0o0oooooooooobooobooooooooooooo
> M[ 1, 1..-11;

My My o My 3 My oy My s My g (48)

> M[ 1..-1, 17;

(49)
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Yyooono
ooooooo
[> restart;
0000bO00000O0bOOo0oOooOoDbooon
|:> with( LinearAlgebra ):
0o0o0o0o0oO: 0000000000 ooooo
Yooooooo
00000 VectorDOOOOooOoooooooOd
0000000000 odoooodoooododoooooboooooogoooooooonod
0o0o0o0O0b0o0b0b0ob0ooooO0obooDobOoboooDo
> Vector( 2 );
’ (50)
0
0000000000 000000000000 ZeroVectorOOOOOooOoooOd
> ZeroVector( 3 );
0 (51)
0
0000000000000 0D0000DO 50000000
> Vector( 1..3, 5);
5
5 (52)
5
00o00ooooooDOoDoooDooooo
> Vector( [ 1, 2, 31]);
1
2 (53)
3
gooooooooooon
> Vector[row]( [ 1, 2, 3 1);
[123] (54)
gooooooooooon
> Vector( 3, symbol=v );
(55)
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1) (55)

oobobod < >gboobgooboboobooboobobobooboobo 0o, oobooboon
gooooooooooOoUooooU0O0oD, DoobDoO0UoooUOoooOooOoUbooo

> ve 1= <1, 2, 3 >;
1
ve = |2 (56)
3
=>vr =<1,2,3>;
=123 ] (57)
0000000000 0D0O00000 RandomVectorOOODOOODODOO
gooooobooooooooog
> RandomVector( 3 );
92
—31 (58)
67
UnitVectorOODOODOOOODODODODOODOODOOOOOODOOOODODODODOOOODOODOO O,
0000000 MapleOODODOOODOODOOOOOOO
> UnitVector( 1, 3 ), UnitVector( 2, 3 ), UnitVector( 3, 3 );
1 0 0
0|10 (59)
0 0 1
Yooooooo
goooboboooooono
> v1 = Vector( [ a, b, ¢ ]);
vl == (60)
c
ggoooooog
> v1[1l]; vi1[2]; v1[3];
a
b
c (61)
goooooooooono
> v2 := Vector[row]( [ x, ¥y, 2] );
|: v2==[xyz] (62)
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goooooooo

> v2[1]; v2[2]; v2[3];

X
y
] z (63)
Yooo
gogoobpboooonbn
> p := Vector( 3, symbol=a );
a4
p=|a (64)
3
gogoobgboooooo
> g := Vector( 3, symbol=b );
b,
q:= b (65)
by

VectorAddOOOOOOQOOOOOOOODOOOOODOOOODO

> VectorAdd( p, q);
al—l-b1

a, +b, (66)
a, + b3

Yooooooo

gobobooobooobooboooo

T
oobooooooboooogooobgoon TDDDDDD

> v3 := Vector( [ 1, 01]);
v4 := Vector([0,1]);
1
V3 =
0
_0_
v4 = (67)
1
VectorAngleOODOODOODOODOODOOODOODODOODOOOO
> a := VectorAngle( v3, v4 );
T
a = — 68
5 (68)

YDDDDDDDDDDDDDDDDDDD
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goooooo

[> restart;

obooooOoOoOoOoOoOoOObOoOOOOOOOODOODOODODOODOOVectorCaleculusboDOOO
oooooogno

> with( Student[VectorCalculus] );

[&x, *, "+, -, L, < >, <|>, About, ArcLength, BasisFormat, Binormal, (69)
ConvertVector, CrossProduct, Curl, Curvature, D, Del, DirectionalDiff, Divergence,
DotProduct, FlowLine, Flux, GetCoordinates, GetPVDescription, GetRootPoint,
GetSpace, Gradient, Hessian, IsPositionVector, IsRootedVector, IsVectorField,
Jacobian, Laplacian, Linelnt, MapToBasis,N, Norm, Normalize, Pathint,
PlotPositionVector, PlotVector, PositionVector, PrincipalNormal, RadiusOfCurvature,
RootedVector, ScalarPotential, SetCoordinates, SpaceCurve, SpaceCurveTutor,
Surfacelnt, TNBFrame, Tangent, TangentLine, TangentPlane, TangentVector, Torsion,
Vector, VectorField, VectorFieldTutor, VectorPotential, VectorSpace, diff, evalVF, int,
limit, series]|

ooooocoooooooviov2OoOoOoogooo

DE]E]E]ex,ey,ezDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD

1 0 0
€y ey, e,= OL[1|]O
0 0 1
> vl := Vector( [1, 2, 1] );
vl :=e +2e +e, (70)
> v2 := Vector( [ -3,1, -2 1);
v2:= -3e +e,—2e, (71)

gooooooboooon

> PlotVector( [ vl, v2 ], color=[ red, blue ], axes=boxed, scaling=
constrained );
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O000vidv20000000CO0O0O0O DotProductd0DOO0OODODOOOODODO

> dpv := DotProduct( vl, v2);
dpv = =3
0000v10Ov200000000000O CrossProductd00O0O0OOO0DOODODODOO

> cpv = CrossProduct( vl, v2);
cpy = —5ex—ey+7eZ

cpvOOooooooooo

> PlotVector( cpv, color=green, axes=boxed, scaling=constrained );
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ooobOviOvz2OcpvdOOOOOoOOOOOO
oo00ocoooboooooboocOooooboooooboOonooon

> PlotVector([vl, v2, cpv], color=[red, blue, green], axes=boxed, scaling=
constrained );
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Yooooooooooooo

ooooooo

[> restart:

OO00OOOLinearAlgebra0 00000000 OOOOO
|:> with( LinearAlgebra ):

oobooooob:0obobooboobooboobg

oooooooooon

> v := Vector([a, b]);

‘ (74)
V=
b
Dooovoo-ooo
> Norm( v, 1);
la| + b (75)

[Dooovo 2000

> Norm( v, 2);

J lal® + 157 (76)
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OO0O0OvO 3000
> Norm( v, 3);
13
i (af +1o) " (77)
Dooovo 32000
> Norm( v, 3/2);
2(3
i (af 12+ 157 12)°! (78)
[Dooovoooo-ooo
> Norm( v, infinity );
] max(|al, |b]) (79)
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YoOoooooooooo

goooood
[> restart;

OO0O00OO0OLinearAlgebra000000O0DODOODODODOO
|:> with( LinearAlgebra ):

oogoooooOd: 0o0oooboooobooboooog

Yoooooo

O#0000 AUO0OO0OOOOO0O0OOoOogoooog

> A = Matrix( 2,2, [ 2,0, 7, -57);
2 0

A= (80)

OO0 AOQOODO EigenvaluesOOODOOOOODOODOO

>r := Eigenvalues( A );

. 2
r=| (81)
oogooboobooooobobboooobobbooooooboga
goodo#000000000000OO
> E := IdentityMatrix( 2 );
. 1 0
E = o (82)
=DiagonaIMatrixDDDDDDDDDD
> DiagonalMatrix( [ 1, 11);
10
01 (83)
AJDOODOOIOODOOxO0DO00000000000 Ax=Ax00000000000000 OO0
=0000b0o0ob0oboDboOobooobooboobo

|4 —AE|=0
> M := A - lambda*E;
2—A 0

M:= (84)
7 -5—A

0000000 Determinant0000D00O0O0ODO

> ceq := Determinant( M) = 0;
ceq = (-2+L) (5+21) =0 (85)

000000000000 ceq:==(-2+A)(5+A)=000000000
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> R := solve( ceq, lambda );
Ri=2 —5 (86)

coooooooooboooooon

~
Il

oobooooooooboobobooobooboobobooboobooboboooboobooo
goooogoo

gogoboobood
gooobooob o#bobb0ADO00ODbO0bOOODbOObOOObDOo0ObOobODbOobDO

EigenvaluesOOOOODOOOOODOOOOODOOOODOOCOOODOOOODOOOOeOvOOO
goboobo0o0bDOo0obobobobiodbelfle2000nboonOO

> (e, v):=Eigenvectors( A );
2 10 87
e,V:: >
-5 11
(> el := e[1l];
e2 := e[2];
el =2
i e = —5 (88)

ooobooooobooooobooooobvidv2O0OO0oOoOoooOon

> v1 :=v[1..-1, 1 ]; #000000
v2 ;= v[ 1..-1, 2 ]; #000000
1
vl =
1
o
v2 = (89)
1
A0DDOOCOO0I0000O0x0000000000000 4x=Ax00000000000000000
00000000000000000000000000000
Avl=elviD0O00OO000O000O0O0OO
OO0000000. 0000000000
> A.vl = el.vl;
2 2 (90)
2 2

gbob00d4wvz=e2v2000000

> A.v2 = e2.v2;

0 0
-5 ‘: -5 (1)
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YOooooooooooooooo

goooogn

[> restart;

0000000000000 000DO00000O00O000O0ODOO0ObOO0OO0ODOLinearAlgebradnOd
ooooboobon

[> with( Student[LinearAlgebra] ):

ooooooobD:oboobobooboobobo

oooobooboboooboobon

> E = ldentityMatrix( 2 );
E bo (92)
01
00000 LinearTransformPlotO OO0 000O0ODOOOO0OOOODOODODOOOOODODODOOOODOOO
0000000000000 odooooooboooooooon
> LinearTransformPlot( E );
The Image of the Unit Circle
In the Plane
y y
\ \
- 1 x -\l 1 x
=1 =1

gooobooboboobg

> M = MatriX( 2,2, [ -2, 1, 3, -2 ] );

(93)
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WP Wb HIER R
-2 1
M :=
3 =2
doooooooooa
> LinearTransformPlot( M );
The Image of the Unit Circle
In the Plane
y
5
y
- 1x -5
-1
-5
odooooooooooooon
> A := Matrix( 3,3, [ -2, 3, 3,
2, -3, 2,
3, 2, -3 1)
-2 3 3
A=| 2 =3 2
3 2 =3
goooooooooa
> LinearTransformPlot( A );
21/ 26
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The Image of the Unit Sphere
In 3-Space
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YoOoooooooooo

gooooog

[> restart;
OO00O0ODOLinearAlgebra0 000000 OD0OODOODO
|:> with( LinearAlgebra ):

oogoooooOd: 0o0oooboooobooboooog

gbooobooboboobooboboobooboooo

> eq :=[all*x + al2*y + al3*z = p,
a2l*x + a22*y + a23*z = q,
a3l*x + a32*y + a33*z =71 ];
eq = lallx+al2y+al3z=p,a2lx+a22y+a23z=q,a3lx+a32y+a33z=r] (95)

obooobooboobon

> eq[1];
eql2];
eq[3];
allx+al2y+al3z=p

a2lx+a22y+a23z=q
a3lx+a32y+a33z=r (96)

oooobooobo

> cffs := [ all =1, al2 =1, al3 = -1, p = 5,
a2l = 2, a22 = 2, a23 = 0, q = -1,
a3l =0, a32 =1, a33 = 3, r = 21];
cffs:=lall=1,al2=1,al3=—1,p=5,a21=2,a22=2,a23=0,9=—1,a31=0,a32 (97)
i =1,a33=3,r=2]
ooooo(95)ooooooo
> eqs := eval( eq, cffs );
eqs = [x+y—z=52x+2y=—1,y+3z=2] (98)
odoooooooooa
v = [ x,y, z1];
v =[x, ,z] (99)

solveOOOODOOOOODOO1IDODOOOOODOODO

> sol := solve( eqs, v );
g =37 __ 11
sol = ||x=—19,y 5 7 2 H (100)
goooooOoooooooooooooood
oooooDooooooDo
> (A, b):= GenerateMatrix( eqs, v );
(101)

23/ 26



BeEEEE WD DR E [ZLHTD Maple

1 1 —1 5
A,b=122 0 || —1 (101)
01 3 2
gbobooboboobgoobooboo
> A b;
I 1 —1
22 0
01 3
5
—1 (102)
2

0010000000000 0Db0000Db0Ob0OO LinearSolvedOOOOoOooooDOoO

> soll := LinearSolve( A, b );
19 ]
3

7
soll = 2 (103)
u

2

Av=b0000v=4"1p000000000000Matrixlnversed 000000000 D0O0O0OO

> Sol2 := MatrixInverse( A ).b;
—19 |
37
Sol2 = 2 (104)
11
2

gogobbbooooooboobbooooobobbuoooonoo

goooboMooboobooboobobooboobooobooo

> M1 := GenerateMatrix( eqs, v, augmented=true );
I 1 -1 5
MlI==|22 0 -1 (105)
o1 3 2

000000 (050000000000 o0ooooooon

11 —1 5
Ab=|22 0 || -1
01 3 2

|'><A:b>;
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11 -1 5
22 0 -1 (106)
01 3 2

gboobobooobooboooboboo

> M2 := ReducedRowEchelonForm( M1 );
1 00 —19
37
010 —/—
M2 = 2 (107)
11
001 -—
2

ooooooOoOoOOOOOOOOODOOOODOODOOODODODODOODOODODOLInearAlgebraDOODO
oooooooooOoOOODbODoOo
|:> with( Student[LinearAlgebra] ):

UbooobdbeqgsOOODbDOODOOO

> eqs;
[x+y—z=52x+2y=—1,y+3z=2] (108)

LinearSystemPlotD 0000000000 OOOOOOOOODOOODOODODODDODOD

> LinearSystemPlot( eqs );
A System of Linear Equations

L} J
i_n (S u_la

[

1938

'19129_4 182
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0000000000000 LinearSystemPlotODO00O0OOOOOOO
x+y=1
1
2x—3y=?
> LinearSystemPlot( [ x +y = 1,
2*x - 3*y = 1/21);
A System of Linear Equations
1.2 1
14
0.8
0.6
0.4
0.2 1
— 1 - >~ " T T 1T T T T T T T T T T 1
-0.2 0_/65 04 06 08 1.0 12 14 16
-0.24
-0.4
-0.6 -

(©)2011 00000000000 Allrights reservesd.
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obobogoobed oo

goobbobboooogn

goooboooboooboobobooobooboobobooboobobobobDoobDoobooo
0000000000000 y(x)0x(y)D000D0O0OD0O0OO0OODOODOOUOODODOOOOOO

0000 O0O000DO0O000OD Ordinary Differential Equation 0 0000000000000 ODECOODO
goo

gooobooo
gooooooboooboobooooobooobooboboooooobobooboooooogooobooon
goobobooboobooboobooboobooboboobooboobobooboo

a (. 2
iy (1 y)tanx

gooono

y'=(1 —yz) tan x
oboooooboboooooboboooboobooooobobn

¥'(x) = (1 = y(x)*) tan(x)

000D0000000000000000000000 y'(x)=(1—y(x)?) tan(x)

|

oooydxd
ooooooao

oooooooooon

|:> restart,

VY ooooo %y(x) = (1 —y(x)?) tan(x)

Oooo0O0o00O0x0 %y(x)=(1—y(x)z)tan(x)DDDDDDD

> odel := diff( y(x), x ) =(1-y(x)"2 )*tan(x);
odel = y'(x) = (1 = y(x)?) tan(x) @)

000000000000dsolve0 00000000000 ODO0O0OO0ODOOOOOOO _CIOO
MapleOOOOOOOOOODOOOODOOO

> soll := dsolve( odel );
soll == y(x) =tanh(-In(cos(x)) + _CI) 2

00000000 _CloooooopOUOODODOOO

> solla := subs( _C1 = p, soll);
solla == y(x) =tanh( -In(cos(x)) +p) 3
O solla == y(x) =tanh(-In(cos(x)) +p) 0000 eqlO00OO0O0O0

> eql := rhs( solla );
eql := tanh(-In(cos(x)) +p) 4)
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plotsOD 00000 animated 0000000000000 pOOOOODOOODOO
> plots[animate]( plot, [ eql, x=-5..51, p=-3..3);

p=-3.
1_

0.8 1

0.6 1

0.4

0.2 -

gooooooooooooooooooooooooooooobobooooobooooobooon
goooboobobobobooboooboobooboobooo

THAE  Math W ok
M @3 [ plEEOT L—1 |1 — W rz2vms 10 E'@@ &) Dy

\ 4 E]E]E]E]Dx(%y(x)) =y(x) + xz-l—y(x)2

DDDDDDDDDx( d

ay(X)) =y(x) +V ¥ +y(x)? 0000000

ode2 == xy'(x) =y(x) ++ ¢ —|—y(x)2 5)

ode20000OD0OOOOODO

|:> ode2 := x*diff( y(x), x ) = y(x) + sqrt( x*2 + y(x)"2 );

> sol2 := dsolve( ode2 );

sol2 = y(yzc) + 5
X X

— CI=0 (6)

OO0ODOisolate0O0000DOOOy(x)DOODOOOOOO

[> sol2a := isolate( sol2, y(x) );
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-1+ Clzx2
2 = = —m—mem—m———— 7
\‘ sol2a = y(x) 2 C (7)

oooo _ClogoOOooooooo

> sol2b := eval( sol2a, [ _C1 =q1]);

-1+ g%
sol2b == y(x) = ﬁ— 8

22
Dsolezzy(x)=%qiDDDD eq200000000
q
> eq2 :=rhs( sol2b );

—1—|—g2x2
eq2 = 9)
2q
plotsO000000animate0 0000000000 DOODOqO0O0O00ODOOODOODO
> plots[animate]( plot, [ eq2, x=-3..3], q=-10..10 );
qg=-10.

40

30

20 -

10

_10_

_20_

_30_

_40_

gooooooooooooooooooooooooooooobobooooobooooobooon
goooboobobobobooboooboobooboobooo

TH¥AE Math 1 Jow b F_—A—4ral

I @ [ pIREDT =i |1 v 10 E@ & @by

YE]E]E]E]D
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\ 4 %y(x) + 2 y(x) tan(x) =sin(x)

goooooooo %y(x)+2y(x)tan(x)=sin(x)DDDDDDD

> o0de3 = diff( y(x), x ) + 2*y(x)*tan(x) = sin(x);
ode3 = y'(x) +2y(x) tan(x) =sin(x) (10)

ode3000D0ODOODOOODO

> sol3 := dsolve( ode3 );
_2co8(2x) +2+3 Clcos(x) + Clcos(3x)

3 = 11
50 y(x) 4 cos(x) (11)
OO0O0sol30000D0OO0O
> sol3a := expand( sol3);
sol3a == y(x) =cos(x) +cos(x)2_C] (12)
oooo _CloroOoOoooooo
> sol3b := subs( _Cl=r, sol3a);
sol3b == y(x) =cos(x) +cos(x)2r (13)
0 sol3b == y(x) =cos(x) —|—cos(x)2rD O00eqOOO0OO0ODOODO
> eq3 :=rhs( sol3b );
eq3 = cos(x) + cos(x)?r (14)

plotsO000C00Oanimated000000D0OOOO0OOCOrO0O0DOOOODODO

> plots[animate]( plot, [ eq3, x=-2*Pi..2*Pi ], r=-10..10 );
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r=-10.

10 -

_10_

gooooooooooooooooooooooooooooobobooooobooooobooon
goooboobobobobooboooboobooboobooo

TH¥AE Math 1 Jow b F_—A—4ral

I @ [ pIREDT =i |1 v 10 E@ & @by

goooooobobobooboooboobon
googo

[
[
[
[

-d0b00bO0OOobOoOoboon

O00000000oO0ooooood
_ At
O0000x(¢) =C-e

oooooooooooooobooligcooogooboog

-db0b0obOoOoboOoboon

gobobooboobooboobooobuooboobobooboobon C1D CZDDDDDDD

xlz xzz
0D0000x(#)=Cpre +Cye

-d0b0obOoOoboOobonon
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ooonmOAO000O0O0000O0O0000O0O000O0

goboooooboobobobooboobo
goboboobooobogooboooonooo
goboobooobooboooobooob

VDDDDDDDDDDDDD

gboooboobgooboboobooboobooboobooboooboobooobon

7/

googoogn

[> restart:

d?
DDDDDDDDDDm-ﬁx(t):FDDDDDDDDDDDDDDDDDDDDDDDDDDDDD
gooobooobooog
%DD[IDI]DDDDDDDDDDDDDDDDDDDZDDDD
ogoooboobobooboobooboboobooobooo

u
I: deql := m*diff( x(t), t, t ) + c*diff( x(t), t) + k*x(t) = 0;
deql == mx(t) +cx(t) +kx(t) =0 (15)
oooOOOOoOoOoOoOoOoOoDoo
Joooobooooooobobbooooooboboogo coobooo oo

|:> eql 1= x(t) = C*exp( lambda*t );
At

eql = x(t)=Ce (16)

gooono
deql = mx(t) +cx(t) +kx(t) =0
O
eql = x(t) =Ce"'

gogooooo
> eq2 := eval( deql, [ eql ]);
[ g2 = mCN e +cCrt +kCe =0 17)

8/38



PR

W AEKITHT !

ooooo
2
eq2 =mCN ' +cCre +kCe'=0
oooo
Cexz
ogooood

> eq2a := eq2/( C*exp( lambda*t ) );
2
mCA " +cCre +kCe

eqla = 0
Cem
goood
2
mCA e +cChe +kCe
eqla = y =0
Ce
oooooon

> eq2b := expand( eq2a );
eq2b = m?»2+c7u+k=0

ogod
eq2b = mh +eh+k=0

gboooboooboooboboobooboobooo
googooooog

2
eq2b :=mAk +cA+k=0
D)\DDDDDDDDDDDDDDDDDDDkl,kZDDDDDDDDDDDDD

> ( lambda[l], lambda[2] ) := solve( eq2b, lambda );

A = -c++/ F—4amk oty & —4mk

P2 2m ’ 2m

goo 7L1,7\,2|:||:||:||:||:|C2_4mk|:|DDDDDDDDDDDDDDDDD

1)02—4mk>0DDDDDDDDDDDDDDDDDD

2)02—4mk<0DDDDDDDDDDDDDDDDDD

2

[ZLHTD Maple

(18)

(19)

(20)

¢ —4mk=00000000000000000
gooooooooooooooooooooooboobooooobobooooobooboooboooDo
gooobooboobobooboobooo

gbo0obOO0o0Oo0o0o0onogooooooon

MOMLOOOOODOOOOOOOOO000O0

goooooopooboooogooogon
gooooooboboooogoobooobo
gooobooobobbobooboon
oooobooboboboboooboooboon
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00000 mdi +ehl+k=000000 MOMLOOOOOOOOOOOOOOOOOOO

DDDDDDDDDDDDDDDDDDDDcz—4mk>0D
DDDDDDDDDDDDDDDDDDDDCz—4mk<ODDDDD
DDDDDDDDDDDDDDDDDD62—4mk=OD

b00o00000o0o00ogooooonoo
oooooooboooon

2
eq2b = mAk +cA+k=0
0oooooooooooon

eql == x(t) = Ce!

gooobooooboobooo

xlt xzt
x(t)=Cle +C2e

googocic20oonooooo

OCOO0OsollO000D0O0OOODO

> soll := Cl*exp( lambda[l] *t ) + C2*exp( lambda[2] * t );

CorfZmmt)e e fZ=5mm).

+C2e 2m (21)

soll == Cle
OO0O0OOdsolveOOOOOOODODODODODOOODODOODOODOO
deql := mXx (t) +cx(t) + kx(t) =0
ogooooooooo

> dsolve( deql );

(—c+‘/c2—4mk)t _(c+\/c2—4mk)t

x(t)= Cle m + C2e 2m (22)

goooboooboobgobooooboo

(et dZoamt)e e JT—amt)s

soll == Cle Zm +C2e Zm
gogooooggno
goooO0o0oO0o0oOoooooooOoo0oooooooooobObOooooooooOooOobOoDooooobooboo
goooooogno

00000000000000000000& —4mk >o00
00000000000000000000& —4mk <00
000000000000000000¢ —4mk =00
VYooooooo

cooooooobooboooooboooooboOooooon
coooooooobooog

[> restart:
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O000000o0oofO000000000O0000000
|:> f = exp( lambdal*t ) + exp( lambda2*t );

f== Mt+e)12t

VDD gbooobgoobooobon

Y ayooooooo

cooooooooo

> pa [ lambdal = 1, lambda2 = 2 ];
pa = [AM=1,12=2]

> fa := eval( f, pa );
fa = ¢ + ¢

000000000 t-+0o OOO0OO0OO0ODOODOO

> plta := plot( fa, t=0..infinity ):
plots[display]( plta );

00 —

+oo [CTHEBLET.

nfinityDOOOONODOOODOODODOOOODDOODOOOOODOOOnOOODO
gooobooboboboobooboobooboboobooobooboboboonoog

O OoOood

|
g
g
|
g

I o o |

[].
ai
ogd
oad
oad

gbooobooboobobboobooboobooo

|_>va:=[1+0*l,2+0*l];

11/ 38
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i va = [1,2] (26)
> cplta := plots[complexplot]( va, -2..2, style=point, symbolsize=24)
plots[display]( cplta );
1_
0.5
I T I T T ¢." T Q
-2 -1 0] 1 2
-0.5
_1_
0o0o0oooooooogo
Y ooooooo
oooooooooo
> pb := [ lambdal = -1, lambda2 = 1 ];
pbi=[Al=—1,22=1] 27)
> fb := eval( f, pb );
i fhi=c'+¢ (28)
O00000D000t-+0 000O00000O0DODODO
> pltb := plot( fb, t=0..infinity ):
plots[display]( pltb );
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00 -
|
0 oo
t
goooooooo
oooao
O0O00infinityDOODOONDODODODOODOOODOOODODOOODOnOOODOOOO
O0oo0oboooooooooooooooobooboooooobooboooooobooooooo
ogooog
O0oo0obooooooooootoooooobootbooobooon

>vb :=[-1+0*I, 1+ 0*I ];
| vb = 1[—1,1] (29)
> cpltb := plots[complexplot]( vb, -2..2, style=point, symbolsize=24)

plots[display]( cplth );
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1_
0.5 -
o .
| - T - - T - 1
) -1 0] 1 2
-0.5 -
-1 4

gbooobgoobooobob

Y oooooooo

gooobgooobgo

> pc := [ lambdal = -1, lambda2 = -2 ];
pei=[M=—1,2=-2] (30)

eval( f, pc );

> fc

fe=e '+ (31)

000000000 t-+0 O0OODOOOOODOOO

> pltc := plot( fc, t=0..infinity ):
plots[display]( pltc );
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nfinityDOOOONOOODOOO
gbooobgoobooobob

>vec :=[-1+0*I, -2+ 0*I];

blots[display]( cpltec );

15/ 38

U oo
| go

coooooooooocooooocoooobooooon

i ve = [—1, =2]
> cpltc := plots[complexplot]( vc, -2..2, style=point, symbolsize=24)

goo
goo

U
|

(32)
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\ 4

000000000 t-+o J0O0OD0O0ODOODOO

> pltd := plot( fd2, t=0..infinity ):
plots[display]( pltd );

16 / 38
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l_
0.5
S - .
) -1 0] 2
-0.5
-1
doooooooooooon
VZD dooooooooooon
doodoooog
ooooooooad
> pd := [ lambdal = 1+1, lambda2 = 1-1 ];
pd:=[AM=1+L12=1-1] (33)
> fd1 := eval( f, pd );
fdl = ! TV gl T (34)
> fd2 := evalc( fdl );
fd2 == 2¢' cos(1) (35)
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0
t
- o0 - o — L1 L

oogao
OO0O0OinfinityDOOOONODOOOODOODOOOOODODOODOODnOOODODO
goodgooooobooboobobobooboobooboooobooobooboboobooonoag
ooooo
gboooboboobooboooboboo

>vd = [ 1+ 1*I,1-1*I ];
| vd = [1+1L1—1] (36)
[ > cpltd := plots[complexplot]( vd, -2..2, style=point, symbolsize=24)

plots[display]( cpltd );
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19 <&
0.5 1
I ! I ! ! I ! I
-2 -1 0, 1 2
-0.5 1
-1 - {:}
gooooooooooood
Y eoooooonoo
goooooooon
> pe := [ lambdal = -1+1, lambda2 = -1-1 ];
i pei=[M=—1+L12=—1—1] (37)
> fel := eval( f, pe );
fel = e TN (F1 =Dy (38)
=> fe2 := evalc( fel );
fe2 == 2¢ 'cos(1) (39)

000000000 t-+0o JOOOOOODOODOO

> plte := plot( fe2, t=0..infinity ):
plots[display]( plte );
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nfinityDOOOONOOODOOO
gbooobgoobooobob

coooooooooooooo

>ve :=[ -1+ 1*1, -1 - 1*1 1];

blots[display]( cplte );

19 / 38

U
|

i ve:'=[—1+1L —1—1]
> cplte := plots[complexplot]( ve, -2..2, style=point, symbolsize=24)

(40)
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o 1-
0.5
I ! I ! ! I ! 1
-2 -1 0] 1 2
-0.5 1
o 1
ooooooooooodooo

Yoooooo..

EEEEEDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD

OO0O0ooOooo=od OO00O0000Os od
E%E > plots[display]( plta > plots[display]( pltd );
0O ) ; so-
N Al
G/\
, t
0 0
— t _w- J
> L
- | >
EBE > plots[display]( pltc > plots[display]( plte );
00 ?
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0 0 O—— '
. 0
L t
> =
- | >
aooao
O000infinityDOODONDODODODOODOODOOODOODOODONnOOODOODODO
EEDDDDDDDDDDDDDDDDD|:||:||:|DDDDDDDDDDDDDDDDDDDDDDD
Yoooooooooooooo
goooooo
[> restart:
0000000000 deqlO00OD0O00DOOD0OODOODOOODOODOODOODOO
> deql := m*diff( x(t), t, t ) + c*diff( x(t), t ) + k*x(t) =
deql == mx(t) +cx(t) +kx(t) =0 (41)

E EDDDDDDDDDDDDDDDDDDX(t)DDDtDDDDDDDDDDDDDDDDD v(t)

> deq2 = diff( x(t), t ) = v(t);
deq2 := x(t) =v(t) (42)

1

deql deq200000O0Odeq30000O0O

> deq3 := eval( deql, [ deq2 ] );
deq3 = mv(t) +cv(t) +kx(t) =0 (43)

deq3O iv(t)DDDDDDD

dt
> deq4 := isolate( deq3, diff( v(t), t) );
deqd = (1) =~ —kx(D) (44)
m
deqdOO0ODOOO
> deq5 := expand( deq4 );
deq5 == (1) = - C;i’) . k’;i” (45)
000 deq2000 deq500000000000Xx(#)0v()DDO0O0OXxLODOOOODOOO
[> xLo:= [ x(t), v(t) 1;
xL = [x(1), v(1)] (46)
deg20 deqb0O00OO0OOO
|_> deq2;
(47N
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| x(1) =v(1) (47)
> deqg5;
b(1) = - cx;it) . k);it) (48)

deq20deqb000000DO0O0OOODOOOODOODOODOODODOOODO

000000000000 0DCO0O0OO0 deq20deqb00000000OCOCOO0ODOdeq20deq5000
00000000000 OTrhsdeqsO000OC0O0OOOOOODOOOO

. k
o) || s o | v

> rhsdeqs := [ rhs( deq2 ), rhs( deqg5 ) ];
cv(t)  kx(1)

m m

rhsdegs == |v(t), - (49)

GenerateMatrixOJOOOOOOOOOOOODOODOOOOODOrhsdeqsOO0OODO AQODODO

O0O00dummyO0OCOO0OO0OCOOOOOOODOOOODO

> (A, dummy ) := LinearAlgebra[GenerateMatrix]( rhsdeqgs, xL );
0 1
0
A, dummy = k c | 0 (50)
m
> A;
0 1
_k (51)
m m
doooooooooooooooooooood
0 1
x(1) x(?)
= k c 3
v(t) " m v(t)
000000000000 ooooo0oDooOxLooooooooooooono
> xV := convert( xL, Vector );
x(1)
xV = (52)
v(?)
0000000000 0o0oooogdnodsubsO000ODOOODODOOOOOOO
> deqg6 := subs( [ m=A, n=xV ], map( diff, xV, t) = m.n);
. 0 1
x(1) x(1)
deq6 = | | =l k ¢ | (53)
v(1) R v(1)
m m

O000C0OevalOOOODOODOOODOOOOODOOUOODOOOODOO

[> deq7 := eval( deq6 );
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v(t)

deq7 = = cv(t) kx(t) (54)

00oo0ooooOoA0OdODOOOOoOoOoOooOono
> LinearAlgebra[Eigenvalues]( A );

-c+ & —4mk
2m

(55)
_c+ & —4mk
2m

gobobooobooobooboboooboobo

oooooOoo
m?»2+c7»+k=0
Dooo > >
A = -ct+Vc—4dmk  c+V T —4mk
P2 2m ’ 2m
ooooo
deql == mXx(t) +cx(t) +kx(t) =0
goooa
(—c+\/cz—4mk)t _(c+\/cz—4mk)t
x(t)= Cle am + Cle 2m
gooooooo A
0 1
_k e
m

gobgoboooboobooboboobooboobo

x(t) 0 : x(1)
deq6 = | | = k c
v(t) S v(t)

0000000000000000000000000AOO0OOOO0O0O0OD0000000onnon
000000000
VY oooooooooooooo
00000000000
deq2 :=x(t) =v(?)

gog
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deqg5 1=v(t) = - c‘;it) i k);(lt)

gboooboobobooboobooo
dsolveJOODOOOOOOODOOOODOODOOO

> sol := dsolve( [ deq2, deqgq5 ] );

(c-{-M)t

7 _
c ¢ —4mk 2m
- N - 2
[ ; 7 ]_C €

m

(cetJZ—amk )

2_
[—§—+——£——ﬁﬂﬁi)_c1e 2m

m

»x(1)

(et Z—amk) s (c+VZ—amk)

= Cle 2m + C2e 2m

oooobogooo

> sol[1];

(cet+VZ—amr ) (c+VZ—4mk) s

x(t)= Cle 2m + Cle

Yooooo

goooood

[> restart;
gooooooooooooooooda
|:> ode := m*diff( x(t), t, t ) + c*diff( x(t), t ) + k*x(t) = 0;

ode == mXx (t) +cx(t) +kx(t) =0

O

ode == mXx(t) +cx(t) +kx(t) =0

goooogooo

> dsolve( ode );

(cc+JZ—akm )¢ (c+Z—akm )¢

x(1)=_Cle am + C2e

goboobooobooobogooobooo

24/ 38

2m

[ZLHTD Maple

(56)

(57)

(58)

(59)

(60)



B W AEKXITHD ! [ZLHTD Maple

_ ., dx(0) _
x(0) 1’—dt 0.

goboboobooboobog bbgooboboobuoobgooobobo

> ics := x(0)=-1, D(x)(0)=0;
ics = x(0)=—1,D(x)(0)=0 (61)

{ }j00o0ood0ooooooooo0ooooUooDpDoogooDpooooo

00000 mc kOODOOOODOOOODOOOO

> params := [ m=1, ¢c=1/3, k=11 ];
1

params = m=1,c=?,k=1l (62)
0
ode = mx (t) +cx(t) +kx(t) =0
0
1
params = m=1,c=?,k=11
goooooo
> odea := eval( ode, params );
odea ==3c°(t)-|-x(3—t)+11x(t)20 (63)
gdoooooooooon
> sol := dsolve( { odea, ics } );
t
\ 395 e 6 Sin( 325 t) _i Wl‘
sol == x(t) = - 303 —e 6005( p; ) (64)

goboboooboobooooooo
goboobooboobooboobooboon
oooooooOoboooooboboooooboboobooboboboboobobo

> { ode, ics };
{mx(t) +cx(t) +kx(t) =0,x(0) =—1,D(x) (0) =0} (65)

g

t

v 395 e_6sin( '395t) !

sol = x(t) = - 305 6 —e€ cos( “325tj
Odd0OeqlO0OO0OOOOO
> eql := rhs( sol );
t
J395 ¢ 6sin(v325t) L R
eql =- 305 —e 6005( 6 j (66)
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J395 ¢ © sin(
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395 t ) ,
6 % ( 305 ¢ )
— ¢ COS T

eql :=-

ggoooobooog

> plot( eql, t=0..10 );

0.8

0.6

0.4

0.2

395

-0.2

~0.4 -

-0.6

-0.8

_1_

000000 oDOoUooDooOox(0)=

ooooooooooo

%

s o)

)

—l00o0o0oooo
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goooooootuooxyoooobooobooooo

> pics := x(0) = x0, D(x)(0) = 0;
pics == x(0) =x0,D(x)(0) =0 (67)

oooooooad
pics == x(0) =x0,D(x)(0) =0
gooo

ode == mXx(t) +cx(t) +kx(¢t) =0
goooooon

> psol := dsolve( { odea, pics } );
t
x0/395 ¢ 6sin(ﬂj ot
sol == x(t) = 6 +x0e 6cos(ﬂj (68)
psot: 395 6
t
x0+ 395 e 6 sin( ' 325 t) __é /395 ¢
psol == x(t) = 303 +x0e cos( 5 J
ddddeq200000000
> eq2 := rhs(psol);
t
04395 ¢ © sin( Y 325 t) L
eq2 = 303 +x0e 6cos( s j (69)

gboooboobooboobooboobooobon

> plots[animate]( plot, [ eq2, t=0..10], x0=-1..1);
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WA A,
bk

-1-

oooooooooooooooooooooogoooooooboooooobooooobooog
goboboobooobooboobobooobooboobo

F¥AF Math el Fo=k FoA—%L a3l

M@ [ plEEDIL—L 1 | I v = vers: | 10 EE@ Ay

Yooooooooooooooooo
goooooo

|:> restart:

ooobooooooboooooobooboooobbooof(nwbooobobD«woobOOo0OobObOOOO0ODOOOO

gooooOooooooointtranso0bOOOOODOOODOODDODOD

> with( inttrans );
[addtable, fourier, fouriercos, fouriersin, hankel, hilbert, invfourier, invhilbert, inviaplace, (70)

invmellin, laplace, mellin, savetable ]
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goboboobooobooboobobooobooboobo

goboboooboooboobobobobooon

> deq := diff( x(t), t,t ) + 2*diff( x(t), t ) - 3*x(t) = 0:
deq ==X (t) +2x(t) —3x(t) =0

DDDx(O)ZO,%x(O)ZIDDD{ yooooooooo

ooboopoobgoobooooboo

> ics := { x(0)=0, D(x)(0)=1 };
ics = {x(0)=0,D(x)(0) =1}

gobooboobooboboooboowbogsgbooboon

> Leql := laplace( deq, t, s );
Legql = szlaplace(x(t), t,s) —D(x)(0) —sx(0) +2slaplace(x(t),t,s) —2x(0)
— 3 laplace(x(t),t,s) =0

0000000000000000 laplace(x(t),t,s)0 X0O0O00DO0O0O0OO

> Leq2 := subs( laplace( x(t), t, s )=X, Leql );
Leq? == X —D(x)(0) —sx(0) +2sX—2x(0) —3X=0

goooooobooboooon

> Leq3 := eval( Leq2, ics );
Leg3 =X —1+2sX—3X=0

XO0oooooooo

> Leq4 := isolate( Leq3, X );

Leg4 = X= I

s2+2s—3

XO0O0O laplace(x(t),t,s) 00000000
> Leqg5 := subs( X=laplace( x(t), t, s ), Leq4 );
1

Leq5 = laplace(x(t),t,s) = S R
s+2s—3

gooobooobooobgooo

> Leqg6 := convert( Leq5, parfrac );

1 1
Leq6 = laplace(x(1),t,s) = 4(s—1) 4(s+3)

[ - 1 - 1
Leq6 = laplace(x(1), t, s) 4(s—1) 4(s+3)

goooooooooo@osoboootbooobooon)o

> Leq7 := invlaplace( Leqg6, s, t );

-3¢
&

4

t
Leq7 = x(t) = % -
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(1)

(72)

(73)

(74)

(75)

(76)

(77)

(78)

(79)
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gooooooboooon

OO000COO0OdsolveODOOQOOODOOOOODOOO

o000t ooodsgoon

[ZLHTD Maple

> dsol := dsolve( { deg } union ics );
t
dsol = x(t)Z%— = (80)
OO0OOunionDOOO0O0OO0DOODODOOOOO
> {deqg} union ics;
{35(t) +2x(¢) —3x(2) =0,x(0)=0,D(x)(0)=1} (81)

MEWmE OIS
sX - x; = AX

b armE s i
= i AT R K EAN o
WO X,
* EHTS
STSAER [x - Ax}
i ”375’22%‘ gx \ /- et 4 Cekt 4, 4 el ‘\
sDUR - o
\i ;jﬁﬁj’—j)&u \- P BT, }/
s -A 3=, =4, a- A,
( REAFEH (51 — )
L (-2, (=-Ay)... (=-A,) }
1. ﬂ?ﬁ‘}’@ﬁﬁﬁ Caofc S CFATFFA (s1 — &)
2. ARHIAOBERIETHS pa
Eﬁjﬁ:ﬂ[tsl = M'ﬁ
h 4 .
AEEAEN e E

X = (sI - A)1x,
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YOOOooOoooobeEDODoooO

goooood
[> restart;
goooobodoouooooooa

> ode := m*diff( x(t), t,t ) + c*diff( x(t), t ) + k*x(t) = 0;
ode == mx (t) +cx(t) +kx(t) =0 (82)

gooooboooooga
> params := [ m=1, ¢c=1/3, k=11 ];
params = [m=1,c=—,k=ll} (83)

ogoooobgooobo

params = [mZI,CZ%,kZII}
ogd

ode == mXx (t) +cx(t) +kx(t) =0
goooooo
> odea := eval( ode, params );

odea = X (t) +% +11x(¢) =0 (84)

OO00OOicsOOODOODO

> ics := x(0)=-1, D(x)(0)=0;
ics :=x(0)=—1,D(x)(0) =0 (85)

00000000 0DOO0b0O0OO0OOnumericO0OODOODOO

> dsol := dsolve( {odea,ics}, numeric );

(86)
O000b0o000bO0obO0oU0OobOoboOo0obOOobOoUobOOobOOobOOOdsolDODODOODODODO
goooooOoooooooooooooood
0000000000000 00000000D000D000OMaple00D0D0O0O0OODOODOODODOOOO
oo0oooO0oDooOooooooooooodg

t=00000000dsol0000DO0OOO0

> dsol(0);
[t=0.,x(¢) =—1.,x(t) =0.] (87)

d
t=00000 x(0)0O Ex(O)DDDDDDDDDD

O000¢=100000000000000

> dsol(1);
[t=1.,x(t) =0.841399896866335, x(¢) = —0.477906337087004 ] (88)

Ubodr=mnoobonon
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> dsol(Pi);
L [t=3.14159265358979, x(t) =0.353992482077245, x(t) = —1.63544709648800 ] (89)

OO0O00D0OCO0O0O0DOCplotsOOO0OODO odeplotO00ODOOO0O0ODOOOODOOOODDOOOO
ooooobooog
> plots[odeplot]( dsol, [t, x(t)], 0..10 );

0.8

0.6

-l AAAA

SRYAL

OO0O0O0numpointsd 00000000 COOOO0ODOOOODOOOODOOOODOOOODDOOOO
000000000000 numpoints=1000000000000000000

> plots[odeplot]( dsol, [t, x(t)], 0..10, numpoints=1000 );
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0.8

0.6

0.4

0.2

W AEKITHT !

AAAA

[ZLHTD Maple

> plots[odeplot]( dsol,

[

t, x(t) 1,

0..10,
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0.8

0.6

0.2

oDodooooooooooooooooooooogooooobobooooobooooboboooonog
goboobooboboooboobobboobooobooo

FE¥Ak Math fim ok FoA—%al

I4 @ [» pIREDI L—Ls 1 | I v = vrps: | 10

D)

<9 8 O

'[M]DDDD[H]DDDDD
000000000000000000000000000D000000000
0000

> endT := 10;
i endT = 10 (90)
0000

> N := 100;
i N = 100 (91)
00000

> dT := endT/N;

dT == — (92)
oooOooOooOoooo
> T := [ seq( evalf( k*dT ), k=0..N ) ]:

.00000000000000000
DRS—YU5#s000000000000000
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> s = 2;# 00000000

(x1,yl):=-0.8/s, -0.5/s; # 000
(x2,y2):= 0.8/s, 0.5/s; #000
§:=2

x1,yl = —0.4000000000, —0.2500000000

i x2,y2 = 0.4000000000, 0.2500000000

(93)
0000000000000 000000000000000000000
.ooooooooD
O EE O
> TJ[1];
T[N+1];
0.
i 10. (94)
.OoO00o0oOo0oon
> dsol( T[1] );
dsol( T[N+1]);
[t=0.,x(¢)=—1,x(t) =0.]
i [t=10., x(7) =0.0164981510659941, x(¢) =0.621293952341519] (95)
.OoO00o0oOo0oon
> dsol( T[1])I[];
dsol( T[N+1] )[];
t=0.,x(t)=—1.,x(t) =0.
i t=10., x(1) =0.0164981510659941, x(¢) =0.621293952341519 (96)
.O0O0O00oOo0oo0n
> (dsol( T[1] )I[1)I[2];
(dsol( T[N+1])[])[2];
x(t) =—1.
i x(¢) =0.0164981510659941 (97)
.O0O0O00oOo0oo0n
> rhs( (dsol( T[1] )[]I)[2]);
rhs( (dsol( T[N+1] )[] )[2] );
—1.
] 0.0164981510659941 (98)

gooooooboobobooboobooboog

000000000 00D000000
OfEfFfREd[iI]0D 0D 00000000
OBITREOGE - d[i] =

evalf( Re( eval( eq2, t=T[i] ) ) ):
> for i from 1 to N+1 do

# O000O00DO0OO

d[i] := rhs( ( dsol( T[i]l)I[]1)I[2] ):
# 00000
r[i] := plots[display](
plottools[rectangle]( [ x1, y1+d[i] ],
[ x2, y2+d[i] ],
color=green ) ):

end do:
=-DDDDDDDDDDDDDDDDDDD

>req := [ seq( r[i], i=1..N+1 ) ]:
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JO0000O00O00O0O0O

> plots[display]( req, insequence=true, scaling=constrained );

-0.4 -0.2 0] 0.10.20.30.4

-0.5

oobooooooooboobodoooboooboooobooooooboobobooobooobooon
goboobooboobgoobobooboobuoobooobon

TEXAL Math 1 owk FoA—tra

ME b MEEeL-4 1 || b v = v Fps: A% & @i

oooooooboooogoooon

S mmm e e e e e
# 0OO0O0OOO0OOOOOOO
# ____________________________________________________
endT := 10:
N = 100:
dT = endT/N
T = [ seq( evalf( k*dT ), k=0..N ) ]:
# ____________________________________________________
# OOOOOO0O
# ____________________________________________________
s 1= 2:
(x1, y1):=-0.8/s, -0.5/s
(x2,y2 ) := 0.8/s, 0.5/s
# ____________________________________________________
# OO0O0OOO0OODOOO
g
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for i from 1 to N+1 do
dfi] := rhs( (dsol( T[i] )[1)[2] ):
r[i] := plots[display](
plottools[rectangle]( [ x1, y1+d[i] ],
[ x2, y2+d[i] ],
color=red ) ): # O0OreddODO0O
end do:
req := [ seq( r[i], i=12..N+1 ) ]:
plots[display]( req, insequence=true, scaling=constrained );

1_

-0.4 -0.2 0] 0.10.20.30.4

-0.5

VYooooooooooooOo

d
gooodbDx(n)DODO Ex(t)DDDDDDDDDDDDDDDDDDDDD googo

oooooo
EEEEEEDDDDDDDDDDDDDDDI]DDDDDDDDDDDDDDDDDDDDDDDD

oo o

> plots[odeplot]( dsol, [ x(t), diff( x(t), t) ], 0..10, numpoints=1000,
frames=24);
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3 -

2 -

X' ]

1 -

| ! ] ! ] ! ] ! ] ! ! ] ! ] ! ] ! ]
-1 -08 -0.6 -04 -02 0 0.2 04 0.6 0.8
J X
- 1 -
_2 -

oooo0ooooooooooooogoooogoooooooboooooobooooobooog
gobooboooboobooboboboobooobooboobon

F¥AF Math el Fo=k

I @ [ plEEDT L—L

F—Ai—La
|

=l

1

> v vres: | 10 | G[&]9E A @i

O0000000O0o00o0OoO0o0oooooo0ooDObO0ooo0DOo000ODOO0DEtoolsOO0DOOO
DEplot0D00O00D0O0DO0OO0ODOODOODOODODOUODOODOODODODODOOO

[> ?DEplot

()2011 00000000000 All rights reservesd.
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PR

\an
\ 4

TRYSIUTRIR

ogon

goobbbbbouoooooobbbobbodd

[Dooooo
Doooooo = (

googoooo

[> restart:

gobobodxgoobooboobooobooobo

2

> myprocl := x -> x"2;
myprocl == x — Xx

oooobooooobooooooobooooooooooooOoboooooOoboooooOoboOn

> myprocl(2);
4

gbooooboboodxtiyboboooooboooooao

> myproc2 := (x,y ) -> x"2 + yr2;
i myproc2 = (x,y) - ¥ +y2
> myproc2( 3, 4);

25

ooooooooooOooboooooobooo

> myproc3 := () -> plot( sin(x), x=-Pi..Pi );
myproc3 == () — plot(sin(x),x=-m..1)

> myproc3();
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oooooooooooooooooooooogoooooooboooooobooooobooog
goboboobooobooboobobooobooboobo

TR Math . Jow bk FoA—Sa

2,539, 0,899 B v 11 &9 A ¢kE HH

ooooooooooooooooogbobooonoooooooboooooobooooobooog
goboboooboooboobooooo

VYooooooooooooooOoOOoOOoOOO
[oooooo
ooooood = proc( 0O )
oo,
end proc;

-J000b0obo0obooboooon

ogoooood
[> restart;

goboboooboooboobooooo

|'> myprocl := proc()
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TRIFIUV IR
print( "Hello World!" );

end proc;
myprocl = proc( ) print("Hello World!") end proc

DoOoO0oo0000D00O00000

> myfuncl := () -> print( "Hello World!" );
myfuncl := () — print("Hello World!")

oooboooooooooooon

[ZLHTD Maple

(6)

()

(8)

9)

> myprocl;
myprocl

gooooooooboooooooogooooooobooooboboogoDpoo0g ()ooobooo
oo
> myprocl();

"Hello World!"
[Dooooooooo myfunclO0ODO
> myfuncl();

"Hello World!"

gobooboooboooboobooboboon

> myproc2 := proc() printf( "Hello World!" ); end proc;
myproc2 := proc( ) printf("Hello World!") end proc

gooooooboooon

> myproc2();
Hello World!

000000000 sin(x) 0000000000000
> myproc3 := proc( a, b))
plot( sin(x), x=a..b );

end proc;

myproc3 = proc(a, b) plot(sin(x),x=a..b) end proc

-Pi..PIODOOOOODOOOOO

> myproc3( -Pi, Pi);
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-1 -

O000Csin(x) DOO000D0O00O0O0DO -cos(x) D0000DOOOOODOOOODOOOsn(x)O000O0O
oooooooooOoo0ooboooOooooon
> myprocd := proc( f, a, b))

# fO int( f, x )0OOOO
plot( [ f, int( f, x ) ], x=a..b );

end proc:

end proc:000000OO00OODO0ODO:000DO0OCO0OO0OOODOCOOODODODOOOODODOOO
gooooooogooo

> myproc4( sin(x), -Pi, Pi);
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Yoooooooooooooo

51

[
0O
0O
[
0O
0O
[
0O
0O
[
0O
0O
[
0O
0O
[
0O
0O
[
0O
0O
[
0O
0O
[
0O
0O
[
0O
0O
[
0O
0O
[
0O
0O
[
0O
Oo0od
OoOod
OoOooO
Oo0od
OoOod
OoOooO
Oo0od
OoOod
OoOooO

goooooonoooonooonooonoonoooooonooonooogn
goooboobobooobooboboboobooobooboboooo

Oood
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Maple OO OO QOOOO
Oooooog X
>0000000 X N s
N
‘\ ooong
ooag >
oooooog o
/ ét//
ooooooy
goooody 00000
N
N
\ .
\ ~.
\ \/ oooo
O0oo0oooo / /
' l/'/ —
ooooog z EBBBEDZ
goOooOooo
|:>restart;

VDDDDDDDDDDDDDDDDDDDD

ooo00o0ooob0myprocSO0DODODODODOODOODODODODO

g
g

g
g
X

gogon
gogo

X
g

g
g

5
O

ooooboobooboboooog
gooobooboobobooog

X
g

X

O
O
|:>
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OO
OO
OO
OO
OO

gooooooboooo
gooooooboood

do0Olocal a, b, ¢, d, e, f, abc, xyz;

# OO0O0OOO0OO0OO
local Y, Z;

# OO0O0O

Y : ;

Z

# 0OOO0OO00O0O
print( X, Y, Z);

end proc: # myproch
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Maple OO OO QOQOOO
ooooooox
> X =5 N ogoogo
‘\’ agooo
0o /»‘
0000l myprocs P
/ é'./‘
goooody,
goooody, z 00000

YOOOZOoDoooooOooooooboooobooboobuoooOOOmyprocsO0OODOOO

gooobooboobobooboobyobobooobo

> Y,
Y

ob0yooooboobooooobooo

Uo0o0o0yd zoOoOoOOoO330470000000myprocs00000000O0O

> Y := 33;
Z .= 47;

Y:=133
| Z =47
> myproc5();
| 5,6,15
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RSV EIR
Maple OO OO QOQOOO
gooogogg x
S s \ gooog
Q00 \ oooo
\
00000 myprocs \
X
J/ 0oooooy,
gooocggy, z // zOOOOO
Y :=6; 7
7 :15;?. l/
print( X,‘\?,\Z ‘)?
AV
googgd
gogd
>Y 1= 33; .
Z = 47; -

gbooobgoobybhzoboooooooooo

VYVooooooooo

ODooooo

oooooon = proc(ODO: :0 )::0

local OO: :O
oo;

end proc;

O000C0OOintegerD0 000000000 OCO0ODOOO D integerD 00000

[ i iiiieaaooo
# 0000000

B oo e e e e e e meeeooo-
myAdd := proc( a::integer, b::integer )::integer;
# 0DOOO0O0ODOOOd

local sum;

# 00 a O b OOOO

sum = a + b;

| end proc: # myAdd
10200000000000p0000000000000O00O00

> p = myAdd(1, 2);
pi=3
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ddpOOO0OOOOOO

> whattype( p );
integer (18)

O0i10000000C0Ofleat OO0OD 200000IntegerD OOOOOOOODOODO

> p:= myAdd( 1.0, 2);
Error, invalid input: myAdd expects its 1st argument, a, to be of type
integer. but received 1.0

goo0ooooooobo0oboboooboobdbagumentd O 1.00000000000DO00O00DOOO
googooood
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ooooboboooboobon

V 00000 if-then-else-end if0]
goooooooooooooooog

ODooooo
if OOOO then

ood,;

elif OJOO0O then
ooo,

else
oo,

end if;

googoooo

[> restart;

VDDDDDDDDDDDDDD

gbooobooboobooobobooboo
oo00dbaO0ObOOOOOODODOOODOODOO

> a . 1;
I: a:=1
> b :
|

OobOa > bOOOOOOOOOOOOODODOODOODODODOODDOD

1
N

> if a > b then

print( "abOoooooo™ );
else

print( "bOOOooooog" );

end if;
"bOoooooog™

OO0Oa > bOevalbOODOOOOODOOOODO

> evalb( a > b );
false

OO000a < bODOOOevalbOOODOOOOODOOOO

> evalb( a < b);
true
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0000000D0a < b1 < 20000000000
> if a > b then

print( "aDOODOOOO" );
elif a = b then

print( "aO bOOOO" );
else

print( "o OOOQOOOQO"™ );

end if;

"wOooooooog" (24)

OCO00O0aObOOOOOODOOOODOOO

> a = 3;
i a:=3 (25)
[> b := 3;
] bh:=13 (26)
> if a > b then
print( "aOQoooooOo" );
elif a = b then
print( "aO b OO0OOQO" );
else
print( "o OOOGQoOoOag"™ );
end if;
i “al bOoOOoOQoQo" (27)

VDDDDDDDDDDDDDDDDDD

cooobooboooooooooobooobooboOoooooOoobooooon

00000000 aOb
0000000000000 00000000000
017Ay—Svy&%Emyproc6 000 0proc0 0000000000 OOOO0a0bO0O0O0

> myproc6 := proc( a, b))

end proc:

DEDRNZEFHELTAYE—CZH AT Hi fOOODDO00OD0O
> myproc6 := proc( a, b))
if a>Db then
print( "aOOOOOOO" );
elif a = b then
print( "aO b OOOO" );

else

print( "o OOOQOOOQ"™ );
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end if:
end proc:

Oi fOOend if;00000000000000000000000O

o000 o00O00oooooooogoooooon
EHDDDDDDDDDDDDDDDDDDDDDD
> myproc6 := proc(a, b)
Hi#
if a > b then
Hi#
print( "aDOODOOOO" );
HE#
elif a = b then
Hi#
print( "aO b OOOO" );
Hi#
else
HHE#
print( "o ODQOODOOO" );
Hi#
end if;
| end proc:

OEBAPaA Y MT (#00000000

[ZLHTD Maple

UO000###00000000### 000000000000 0DOO0DOODODOODOODOODbOn

B 2
# DO00O0ODO0O0O0O0O0OO0OoOoOoocoon

B o e e e e e oo
myproc6 := proc(a, b)

# a > b O00O
if a>Db then

O
ald bOoooa" );

# 0OO00O0O0OO0OO0OO0OOOOOOOOO
else

# 00000

oo
print( "b OO

O

end if;

end proc: # myprocé6

albOa > bd0000O0O0O0DDOOOO

> a . 5;
a:=>5

> b 3;
b:=3

myproc6 000 0O0OOOO
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Y

> myproc6( a, b );
aOlooooor (30)

OO000O0O0OaO0bOOOODOOOOODOO

> X := 30;
Y = -20;
X =30
i Y= =20 (31)
gdd myproce0ODODOOOOO
> myproc6( X, Y );
i “aJOoooogoor (32)

VDDDDDDDDDDDDDDDDDDDD

gboooboobobobobooboobooboooobooboooboobo
goooboobooboo

S - 2

# 0O0O00OOOOOOOOOOOOOOO
B o e e e e e e eiieiieooo

myproc6 := proc( a, b))

# a > b O0O0O
if a>b then

# 00000000000
print( "ODO000O0O0OOO0O" );

# 00000000000
print( "ODO000O0O0OOOOO" );

# DO0000O0ODOOO0OO0OOOOOOOo
else

# 00000000000
print( "ODO000O0O0OOO0O" );

end if;

end proc: # myprocé

ooooboobobboobooobooboooon

> myproc6( X, Y );
"oooodooodt (33)

000 OO for-do-end dod

ODooooo

for J00ODODDOD fromOOD by OODDDODODOD to OOO do
000000000 0ooooo:

end do;

googoooo

[> restart;
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>

>

>

>

>

oo

>

YOoooooo

Yoooooooo

total :=

total :=
# total :=

total :=
# total :=

total
# total

total :
# total

total :=

i = 1;
total
# total

i = 2;
total
# total

i = 3;
total
# total

i = 4;
total
# total

0;

to
((

TRYSIUTRIR

0,1,2,3,4000000000000DO0O0O0OODOO

#UO000D0OODOOOO

(0)+ 1)+ 2;<--0000O0

tal

total

ooooboobon
oo0ibOooogoo

|:>o+1+2+3+4;

total == 0

|
) + 1; <--00000

total =1
+ 2;

total =3

a + 3;
(0)+ 1)+ 2)+ 3;<--0000O0

total == 6

total == 10

10

ogoooboobobooboobooboboobooo

+ 4
((((0)+1)+2)+3)+4;<--00000

[ZLHTD Maple

O000b0o00OO0bOobO0OOdDtotalbO0OD0OODOOOODODOODOODOODOODODO
ooobooboobg

(34)

(35)

(36)

@37)

(38)

(39)

i DO000O0DOO00OOoO0obDiboooo0obooooboooboobOobooo

0, #00000000COO

total + i;
(0) + 1;
total + i
((0) + 1) + 2
total
((C(Co0)y+1)+2)
total
(CC(Co0)y+1)+2)+3)
total == 0
=1
total =1
=2
total :=3
i:=3
total == 6
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=4
total == 10 (40)
0000000000000 o0o00o0o0ooooon
ooo
total := total + 1
total := total + 2
total := total + 3
total := total + 4
Ooo0oooooioooo
total := total + |
oooboOooooooa
OO0000000O0O0Oo0Obo00o0ooooooooooa
> total := 0;
i = 1;
total := total + i;
i = 2;
total := total + i;
i = 3;
total := total + i;
i = 4
total := total + i;
total 0
i=1
total =1
=2
total == 3
ii=
total == 6
i:=4
| total == 10 (41)

Y oooooooo

1oood 0000000000000 COOO0DooMaple
oooobooog

ooooo
ooooo
i from 1 to 4 by 1

oooo
i from 1 by 1 to 4

OO0O0OMapleD 000000 for-do-end doO OOOOOOOO
for i from 1 to 4 by 1 do

end do;

oo00O0dioobooboo0o0iboobooo0obooogboooooDOobo oo
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print O0ODOOOOOO0ODOODOOODOOO

> for i from 1 to 4 by 1 do

print( "i'" =i );

end do;

. o~NL S~

I
AW N~

(42)

~.

oooo'i' OoDooOooooOooooo

000000000000 for-do-end doO OODODODOOOODODO
total := 0;

Oo00oOdoOforoooOonoonoOonO

i = 1;
total := total + i;
i = 2;
total := total + i;
i = 3;
total := total + i;
i = 4;
total := total + i;

OO000boOobOforoooOonDODnO

ooooo
for - doOend do;000
total := total + |

OO000DOOoO0o00DOO0oU0O0DCOOtotalDOOODOOOODOOOODODOOOO

> # OOOOOO
total := 0;

for i from 1 to 4 by 1 do

# 1 00000000 OOODOOOO
print( 'i'" =i );

total := total + i;

end do;

total == 0
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L

n

TRYSIUTRIR

total =10

i J0000000O0o00ooo0oO0ooby 100000O0O0DO

> # OOOoOOO

total := 0;
for i from 1 to 4 do

# i 0000000 O0OOODOO0O0

print( 'i'" =i );
total := total + i;
end do;
total == 0
i=1
total =1
i=2
total :=3
i=3
total == 6
i=4
total =10

Y oooooooooo

00oooo 1,23, .,.n0000000000000DOO00O0ODbO0O0On

#0, 1, 2, 3, ..., nO000O0OO

# 000000000
local i, total;

# 000000
total := 0;

# 000 nOOOOO
for i from 1 to n do

# 00
total := total + i;

end do;

end proc; # mySum

mySum := proc(n:posint)

local i, fotal;

total .= 0; for i to n do total .= total +i end do
| end proc

A000O0Omysumd 000000

|_> mySum( 4 );
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| 10

n = 100000mySimO0 00O onOO

> mySum( 10 );
55

vDDDDsumDDDDDDDDDDDDD

4

good ZkDDDDDDDDDDDDDD
k=0

> sum( k, k=0..4);
10

10

goood szDDDDDDDDDDDDD
k=0

> sum( k, k=0..10 );
55

sumO0 000000000 nO00D0OO0DOOO

> sum( k, k=0..n);

oboooodn=10000000000

B eval( (50), [ n=10 1 );
55

oooooooboooooogo

> sum( k*2, k = 0..n);

(n+1)°  (n+1)° 1
i 3 2 6 6
> sum( al[k]*x"*k, k = 0..4);

ay+ax+ a2x2 + a3x3 + a4x4

VDDDDDDDDDDDDDDD
SO ADO0OODODOOOODO
> A = Matrix( 3, 5, symbol=a );
a1 91,2 913 91,4 95
A= |0y Gy Gy 3 Gy 4 Ay 5

a3 A3 A3 3 d3 4 Q3 5

guo gooooboooog
oo ooooooooo
>

O
O
for i from 1 to 3 do
for j from 1 to 5 do
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v
jloooooo
[i.i] )

.

end do: # j

end do: # i
1,1,aL1

1,2, a
1, 3, a3
1,4, a4
1,5, a s
2,1, a
2,2, a, 5
2,3, a5
2,4, a 4
2,5, a, s
3,1, as |
3,2, as
3,3, a3 3
3,4, as 4
3,5, a5 5 (55)
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YOoooooooooo

gobooboobobooboobuoobobbooboobooboobobooboon

ooooogon

[> restart;

'MapIeDDDDDDDDDDDDDDDDDDDDD

%SEDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD

OO
OO

googoog
googooo

D 2REERSHEAERBHEXICER L TERLET.

EEBDDDDD O000D00000D0O0DOO0O0D0OODOOOrdinary Differential Equationd ODEO O O O O

oobooooobooboooboopobobooobooboboboobooboobooobo

> ode := m*diff( x(t), t,t ) + c*xdiff( x(t), t ) + k*x(t) = 0:
ode == mXx (t) +cx(t) +kx(t) =0 (56)

ODEOCDDOODb0OO0ODbOO0ODbODObOUObDbOObDUOObUOUObODbDDbOb

> deql := diff( x(t), t ) = v(t);
deql = x(t) =v(t) (57)

=> deq2 := diff( v(t), t ) = -(k/m)*x(t) - (c/m)*v(t);

_kx(zr)  cv(z)

deq2 = v(t) = (58)
| m m
OESEE™mO 0000 AO0O0O0DOOO
> params := [ m=1, c=1, k=6 ];
params = [m=1,c=1,k=06] (59)
OEZLER#ZF deqlldeq200000deqlpddeq2pd000O00OO0OO0
> deqlp := eval( deql, params );
deg2p := eval( deq2, params );
deqlp = x(t) =v(t)
deq2p == v(t) = -6x(t) —v(¢) (60)
DA EERLEY.
> ics := { x(0)=-1, D(x)(0)=0 };
ics == {x(0)=—1,D(x)(0) =0} (61)
[deqlpO deq2p0 0000 icsOO00ODOOOOODOOOODOOOODO
> sol := dsolve( { deqlp, deg2p } union ics );
t
12¢ 2 sin(ﬂ)\/% 0 sin( V23 1 )\/23
sol == |v(t) = 2 x(t) =e 2= 2 (62)
23 ’ 23
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_COS( 23 ¢ )
2

OEEMsol00 00000000000 OeqOOOODOOOD

> eq :=rhs( sol[2] );

ORDLhERETOY FLET.
> plot( eq, t=0..
0.5

10 );
0 T T T /I\ T /\ — 1
2 s \_"6 8 10

t

_1_

Y

iboboboooooobooooobbbbodad
VDDDDDDDDDDDDDDDDDDD

doooooooooooooogg
> mySim := proc()
local deql, deq2, params, deqlp, deqg2p, ics, sol, eq;

deql := diff( x(t), t ) = v(t);
23/ 35
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deg2 := diff( v(t), t ) = -(k/m)*x(t) - (c/m)*v(t);

params := [ m=1, c=1, k=6 ];

deqlp := eval( deql, params );
deq2p := eval( deq2, params );
ics := { x(0)=-1, D(x)(0)=0 };

sol := dsolve( { degqlp, deqg2p } union ics );

eq := rhs( sol[2] );
plot( eq, t=0..10 );

end proc: # mySim
OO00000000O0O0O0O0DbOOO0OdO0OOend proc0d0O00OOCOO0OD: OOODOOOOO
mySimOOOO4QdoOod

> mySim();
0.5 -

t
-0.5 1
_1_
Y ooooooooooooo
mdcOkOODODODO x(0)ID(x)(0)DJ0OO0OODO0DO0..t000000000000000
EEEEEEEDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD

|:> restart,;
> mySim2 := proc(m, ¢, k, x0, dx0, et)

local deql, deqg2, ics, sol, eq;
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diff( x(t), t ) = v(t)

ics := { x(0)=x0, D(x)(0)=dx0 };

eq := rhs( sol[2] );
plot( eq, t=0..et );

end proc: # mySim2

dsolve( { deql, deq2 } union ics );

diff( v(t), t ) = -(k/m)*x(t) - (c/m)*v(t):

[ZLHTD Maple

mySim2O000 ndJcOk, 0000 x00dx0UOO0O0000et0 000000000000

3

=

o

[ SN
—~~
x
—~
o
~
[ SN
o

® O X X O
—+ X o
o

> mySim2( 1, 1, 6, -1, 0, 10 );
0.5

-1-

gboooboobobooboobonooo

>sp :=1, 1,6, -1, 0, 10;
sp=1,1,6, —1,0,10

mySim20 spO000000O0O0DOCOOOO

> mySim2( sp );
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0.5

[ZLHTD Maple

-1-

Yoooooo

googoobgn

[> restart;

> mySim3 := proc( m, ¢, k, x0, dx0, et )

local A evals, pltl, deql, deq2, ics, sol, eq;

A = Matrix( 2,2, [0, 1, -k/m, -¢c/m] );

evals := LinearAlgebra[Eigenvalues]( A );

deql := diff( x(t), t ) = v(t);

deqg2 := diff( v(t), t ) = -(k/m)*x(t) - (c/m)*v(t);
ics := { x(0)=x0, D(x)(0)=dx0 };

sol := dsolve( { degl, deq2 } union ics );

eq := rhs( sol[2] );
pltl :=plot( eq, t=0..et );

return(pltl, evals);

end proc: # mySim3

oooobooboobooo

|:> sp

= 1,1, 6, -1, 0, 10;
sp=1,1,6, —1,0, 10

26 / 35
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mySim30 spO0000O0O0OOreturn(pltl, evals);000000000O00O0OOOOODOOO
pltl00O00evalsOODOOOOODO

O0000000pltl0O00evalsODODO0ODDOODOOOOODOOODODDOODOOODOOODODO
odoooooooooooooooooo
> rsit := mySim3( sp );
1D
2 2
rsit := PLOT(...), (66)
1 123
2 2

0D00000000000000
> plots[display]( rslt[1] );
0.5

t
-0.5 4
_1_
Y ooooooooooo
0000000000000000
> rslt[2];
1, VD3
2 2
(67)
1 Y3
2 2

oooooooooooooooooooooooobooooooodnmcbkOODOOoOOoDOO

27/ 35



B RSV EIR [ZLHTD Maple
oooo0obooooouoooootbooooooboobooooooboooooooooboa

gbooobooboobooobobooboo

ooooooon
|:>restart;

> mySim4 := proc( m, ¢, k, x0, dx0, et )

localrl, il, r2, i2, ri, A, evals, pltl,
deql, deq2, ics, sol, eq;

o

A = Matrix( 2,2, [0, 1, -kim, -¢c/m ] );
evals := LinearAlgebra[Eigenvalues]( A );
B o m e e e e e e e e e e aea e

ril Re( evals[1

il :

- ]
= Im( evals[1]
r2 := Re( evals[2]
- = ]

i2 ;= Im( evals[2

ri [ r1, i1, r2,1i2 ];

B oo o o e e e e

deql := diff( x(t), t ) = v(t);

deqg2 := diff( v(t), t ) = -(k/m)*x(t) - (c/m)*v(t);
B e e o e e e e e meeeaaa -

ics := { x(0)=x0, D(x)(0)=dx0 };

sol := dsolve( { degl, deq2 } union ics );

B o e e e e e oo

eq := rhs( sol[2] );
pltl := plot( eq, t=0..et );

end proc: # mySim4

000000000 O0OmySimdOODOOOOO

> sp := 1,1, 6, -1, 0, 10;
i sp=1,1,6,—1,0,10 (68)
> mySim4( sp );
1, 1J23
2 2 / /
PLOT(...), : —%%%—% (69)
1 1/23
2 2

VYooooooooono

gbooobooboboobooboobooboobobobooboobooboboboooboag
oooobgon

|:> restart;

|_> mySim5 := proc( m, ¢, k, x0, dx0, et )
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local r1, i1, r2, i2, ri, A, evals, pltl,
deql, deq2, ics, sol, eq;

-
A = Matrix( 2,2, [0, 1, -kim, -¢c/m ] );
evals := LinearAlgebra[Eigenvalues]( A );
H o e e e e e e e e e e e e e e e o -
rl := Re( evals[1] );
il := Im( evals[1l] );
r2 := Re( evals[2] );
i2 ;= Im( evals[2] )
ri ;= [r1, i1, r2,i2 1];
-

ifrl <0 andr2 < 0 then
# 00000

elif r1 >0 or r2 > 0 then

# 00000
end if;
B oo o oo
deql := diff( x(t), t ) = v(t);
deq2 := diff( v(t), t ) = -(k/m)*x(t) - (c/m)*v(t);
B e e e e e e e e e e mmmmmee e
ics := { x(0)=x0, D(x)(0)=dx0 };
sol := dsolve( { degl, deq2 } union ics );
B e e e e e e e

eq := rhs( sol[2] );
pltl := plot( eq, t=0..et );

| end proc: # mySim5
VY oooooooooo

> mySimé := proc( m, ¢, k, x0, dx0, et )

local r1, i1, r2, i2, ri, A, evals, pltl,
degl, deqg2, ics, sol, eq;

i

A = Matrix( 2,2, [ 0, 1, -k/im, -c/m ] );
evals := LinearAlgebra[Eigenvalues]( A );
-

ri := Re( evals[1l] );

il := Im( evals[1] );

r2 := Re( evals[2] );

i2 := Im( evals[2] );

ri :=[r1,1i1, r2,1i2 ];

=

ifrl <0 andr2 < 0 then
if il =0 or i2 =0 then

# 000000000000000
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else
# 0OO00O0O0OO0OO0ODOOOOOO0

end if;

elif r1 >0 orr2 > 0 then
if il = 0 or i2 = 0 then
# 000000000000
else

# 000000000000

end if;
end if
B oo e e e e e e emmee— o
deql := diff( x(t), t ) = v(t);
deqg2 := diff( v(t), t ) = -(k/m)*x(t) - (c/m)*v(t);
B oo e e e e e e e e e mmme e
ics := { x(0)=x0, D(x)(0)=dx0 };
sol := dsolve( { degl, deq2 } union ics );
B oo o o e e e e e

eq := rhs( sol[2] );
pltl := plot( eq, t=0..et );

end proc: # mySimé

[ZLHTD Maple

OO0000O000D0O0OO000DOOO0O0O0DOCevalfOOOOOOOevalbOOOODOOOOO

OO0return000O00O0ODO0ODOODODOODOODOOODOOO

> mySim6é := proc( m, ¢, k, x0, dx0, et )

local r1, i1, r2, i2, ri, A, evals, pltl,
deql, deq2, ics, sol, eq;

# _________________________________

A := Matrix( 2,2, [ 0, 1, -k/m, -c/m ] );
evals := LinearAlgebra[Eigenvalues]( A );
# _________________________________

rl :=evalf(Re( evals[1l] ));

il :=evalf(Im( evals[1] ));

r2 :=evalf(Re( evals[2] ));

i2 :=evalf(Im( evals[2] ));

ri c=1[rd,i1, r2,1i2 ];

# _________________________________

ifevalb(rl < 0) andevalb(r2 < 0) then
if il =0 or i2 = 0 then
print( "ODO000O0OCOOOOOOOO" );
else
print( "ODO00D0OOOOOOOO" );

end if;
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elifevalb(rl > 0) orevalb(r2 > 0) then

if il =0 or i2 =0 then
print( "ODO00D0ODOOOOCOOO" );

else

print( "0000O0O0OOOOOO" );

end if;
end if
B oo o oo
deql := diff( x(t), t ) = v(t);
deq2 := diff( v(t), t ) = -(k/m)*x(t) - (c/m)*v(t);
B e e e e e e e e e e mmmmmee e
ics := { x(0)=x0, D(x)(0)=dx0 };
sol := dsolve( { degl, deq2 } union ics );
B e e e e e e e

eq := rhs( sol[2] );
pltl := plot( eq, t=0..et );

# return( pltl, evals, ri );

end proc: # mySim6
OO00O00o0oOO0O0OmySimeOO0O00O0O0O

> sp :=1,1,6, -1, 0, 10;
sp=1,1,6, —1,0, 10 (70)

=> mySimé( sp );
"oggododogooo”
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0.5

2 4 6 8 10

-1-

CO00ooOooOoOoooodmySimedODOOOOO

> sp := 1, 5, 1, -1, 0, 10;
i sp=1,51,-—1,0,10 (72)
> mySimé( sp );

"Dooooooooooooog
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VYoooooooo
0000000000000000000000

> mySim7 := proc( m, ¢, k, x0, dx0, et )

local r1, i1, r2, i2, ri, A, evals, pltl, plt2, arrplt,
deql, deq2, ics, sol, eq;

2
A = Matrix( 2,2, [0, 1, -kim, -¢c/m ] );
evals := LinearAlgebra[Eigenvalues]( A );
B o m e e e e e e e e e e aea e

rl := evalf( Re( evals]|

: 11))
= evalf( Im( evals[1] ) );
r2 := evalf( Re( evals[2] ) );
= evalf( Im( evals[2] ) );
=[rl, i1, r2,i2 ];
if evalb( rl <0 ) and evalb( r2 < 0 ) then
ifil =0 o0ori2 =0 then
print( "ODO0O0DOO0ODOODOOOOCOOO"™ );
else

print( "ODO00O0OOOOCOOO" );

end if;
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elif evalb( rl1 > 0 ) or evalb( r2 > 0 ) then

if il =0 or i2 =0 then

print( "ODO00OOOOOOCOOO" );

else
print( "ODO00O0OOOOODOOOO" );

plt2 :=
symbolsize=24);
= Array( [ plt2, plt1l ] );

arrplt :
plots[display]( arrplt );

end if;
end if
B oo o oo
deql := diff( x(t), t ) = v(t);
deqg2 := diff( v(t), t ) = -(k/m)*x(t) - (c/m)*v(t);

B e e e e e e e e e e mmmmmee e

ics := { x(0)=x0, D(x)(0)=dx0 };

sol := dsolve( { degl, deq2 } union ics );

B e e o e e e e e eeee—oo -

eq := rhs( sol[2] );

pltl := plot( eq, t=0..et )

plots[complexplot]( convert( evals, list ), style=point,

#
# return( pltl, evals, ri );

end proc: # mySim7
(72)

OO00O0DoOobo0odOmySim7O0000000
0, 10;

1, -1,
sp=1,1,1, —1,0, 10

=1, 1,

_>sp
=> mySim7( sp );
"nggougougoogagt
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Maple O O OO

goooogooobooo goobobooooooobgooooboon
geGuinoooooboobooboon goooooobooo

goooobgo

|:> restart,

vMapIeDDDDDDDDDDDDDDDD

MapleOOOODOODOODOO

g O00DO0O000DbO0O000DbDO0O00DocumentTools
gooooooboooon g g

o

oo
oad
> with(DocumentTools);

[ Do, GetDocumentProperty, GetProperty, Retrieve, SetDocumentProperty, SetProperty ]

gooooooooobgoboboooboooboobooboboobooboobobbooboo
goooboooboooo

JDDDDDDDDDDDDDDDDDDDDD

> Plotter := proc()

Do( %plotdisplay = plot( Y%®xpression ) );

end proc:

expression plotdisplay
booooooooood 0200000300000
plotbutton

gooo

obooboboboooogon
gboobobobooooon
oboboboboboon

oooooooooocoooooooo

gbooooobobooobotb euiDobooboooooboboooooboooboobobooooo
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YoooooooooooooOo

> Plotter := proc( expr, xmin, xmax, ymin, ymax, col, constr )
DocumentTools[Do](
%plotdisplay=plot(
expr,
X=Xmin..xmax,
y=ymin..ymax,
color=col,
title=typeset(expr, "ODOOO0O"),
scaling=constr
)
) :

end proc:

[>

IEEO1ZEH (xD00D0000000000o0

x2—3 x—1

ORDANE,

OREICHLT, 7Oy FOEECROBLGELEELET.

Oy rAEREUES )Y LTLESLN.

i -5 Aplotofx> —3x—1
X = to ]
5 41
y= -5 to Y 24
5
-4 -2 4
Hob Blue |:|
HHH ® 0000
O ooooo
VY MapleooDOoOoOODOODO
MapleOOODOOODOOOOOODOOOOODOOOOODOOODOODOOOOOODOOOOODOOODOOnO
gdododooooooooooooooooooooofdonoooooooog

ooooboooooooo
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HATED Maple

51

W

m i =0 m[m) m[m]m) m]m] m
O - oo O oo ooo oo O
O 50 oo oo oo ooo oo O
m i m]m] m[m) m[m) m[m]m) m]m] m
O - oo oo oo ooo oo O
O 50 oo oo oo ooo oo O
m i m]m] m[m) m[m) m[m]m) m]m] m
O - oo oo oo ooo oo O
O 50 oo oo oo ooo oo O
m i m]m] m[m) m[m) m[m]m) m]m] m
O - oo oo oo =] oo O
O 50 oo oo oo [l oo O
m i ] m[m) m[m) [l m]m] m
O - oo oo oo oooo oo O
O 50 ooo oo oo [l oo O
m i ] m[m) m[m) [l m]m] m
O 0O oo oo oo oooo oo O
O o0 ooo oo oo [l oo O
m i ] m[m) m[m) [l m]m] m
O - oo oo =0 oooo oo O
O 50 ooo oo oo [l oo O
m]m] i ] m[m) m[m]m) [l m]m] m
oo 500 oo oo ooo oooo ooo O
oo o0 ooo oo ooo [l ooo O
m]m] ' ] m[m) m[m]m) [l ] m
oo ~ OO ooo ] OO0 oooo oo O
x c —_
o o (<5
m = m
X~ = |
3 m
< 2
o 3
_ . [ ] &
c > .
= s O
= 5 8 c
el |® = el o = £
=] ] O O O m =) O @ O
£ Ol w ol O = O @ O o =
] ol = of| m o g o 2 m i O
O o O o o = O m O — O
O olf= mi= o = O &« o 4 m O
O O ol o O mu O ﬁu O o I O
ol m] = O O =l o — O

4/14



[ZLHTD Maple

& ATED Maple

O O O O O
t OO OO OO OO
O oo oo oo oo
O oo oo oo oo
t OO OO OO OO
O oo oo oo oo
O oo oo oo oo
t OO OO OO OO
O oo oo oo oo
O oo oo oo oo
t OO OO OO OO
O oo oo oo oo
O oo oo oo oo
t OO OO OO OO
O oo oo oo oo
O oo oo oo oo
t OO OO OO OO
O oo oo oo oo
m oo oo oo oo
oo oo oo oo
O oo oo oo oo
O oo oo oo oo
oo oo oo oo
oo oo oo oo
ooo ooo ooo ooo
] ooo oooO ooo
%
o =
B [ = = = [
7 — oo W o=t -
= _ _ _ [ _
O
O
| O
- O O
[ O O O
m O O O
W O ] by O
| O O (|

51

W

5/ 14



[ZLHTD Maple

& ATED Maple

51

O oo wi W_DDDD oo
= OO oooo oo
OO oo J Boooo oo
oo 00 o Boooo oo
== oo o Yoooo oo
oo 0o o Boooo oo
oo 00 o HBoooo oo
== oo o Yoooo oo
oo 0o o Roooo oo
[ OO0 O 0oooo [
== 00 O Ooooo oo
oo 0O O Ooooo oo
[ o0 O —oooo [
== 00 O o000 oo
oo OO O —|oooo oo
m]m! o0 0o HUoooo ||
== 00 O Ooooo oo
oo 00 O oooo oo
[ A0 O |O00oo [
]! &0 o Hoooo OO0
OO oo o Hoooo oo
[ OO0 O oooo oo
== 00 O 0000 oo
oo OO O —|oooo oo
[ a0 0o Hooooo oo
] QO O Oooood |

[

[

[

|

[

[

|

|
] O O =
O O * O i
ol = = S

6/ 14



[ZLHTD Maple

& ATED Maple

51

W

=0g

MapleSim

7/ 14



B HATED Maple [ZLHTD Maple

YOOoooooooooooboooooooooeuioooo
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|
|
|
|
|

Yooo

Ood
Ood
Oogd
Ood
Ood
Oogd
Ood

oad
oo
> mySim7 := proc(m, c, k, x0, dx0, et)

local r1, i1, r2, i2, ri, A, evals, pltl, plt2, arrplt,
deql, deq2, ics, sol, eq;

A = Matrix( 2,2, [0, 1, -k/m, -c/m]);
evals := LinearAlgebra[Eigenvalues](A);

= evalf( Re(evals[1]

= evalf( Im(evals[1]
r2 := evalf( Re(evals[2]

= evalf( Im(evals[2]

= [rl, il, r2, i2];
if evalb(rl <0 ) and evalb(r2 <0 ) then

if il =0 or i2 =0 then

print("0000CO00OO0DOOOCOOOOO");
else

print("0000000000OO");

end if;

elif evalb( rl > 0 ) or evalb( r2 > 0 ) then
if il = 0 or i2 =0 then
print("0D000O0O0OOOOOO");
else
print("0000000D0OODOO");

end if;

= odiff(x(t), t) = v(t);
deq2 := diff(v(t), t) = -(k/m)*x(t) - (¢c/m)*v(t);

{x(0)=x0, D(x)(0)=dx0};
dsolve( {deql, deq2} union ics );

eq := rhs( sol[2] );
pltl := plot( eq, t=0..et );

plt2 := plots[complexplot]( convert(evals,list), style=point,
symbolsize=24);
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arrplt := Array([plt2, pltl]);
plots[display](arrplt);

# return(pltl, evals, ri);

end proc: # mySim7
0000oOo0o00DOOoOo00ooOo0O0oDoOo0OoDoOodOOmySim7O000O0OO0ODOOOODO

OO00mlcOkODOOOODOOOODOOOOxOOdx0OODOOODOOOOO,et0doboOonoOon
good

Oooo0oOobo0oooboOmIcOkDbOOOODOOOODODOODOODODOODODODOODOO
OOxoOdxoOOOOODOODOOOOODODOOODOODOOOUODO

> sp := 1, 1, 1, -1, 0, 10;
] sp=1,1,1, —1,0, 10 (1)
> mySim7(sp);
"oooooooooooon
o
0.8
O ' 1 ' 1 ' ) 'yl
0.6 2l 4 6 8 10
t
0.4
-0.2-
H).2
-0.4-
1 ' 1 ' I ' I ' I 'O
-0.7 -06 -05 -04 -03 |
—-0.2
-0.6-
0.4
"0.6 ‘0.8'
--0.8
& -
VYooooooooooooo culo
00000000 MapleDOOO0OOO00OOO0OO ] 00000000 GuUIOO

goo
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0000000000 0b0o0o0ooD0ob0OoOmySim7O000000O0O00ODO0O plotSimOOO0O0OO
googoogn

> plotSim := proc( )

local rl1, il, r2, i2, ri, A, evals,evall, eval2, pltl, plt2a,
plt2b, arrplt,
deql, deq2, ics, sol, eq,
m, ¢, k, x0, dx0, eft;

o
DocumentTools[Do]( m = %TextArea0);
DocumentTools[Do]( ¢ = %TextAreal);
DocumentTools[Do]( k = %TextArea2);
DocumentTools[Do]( x0 = %TextArea3);
DocumentTools[Do]( dx0 = % TextAread);
DocumentTools[Do]( et = %TextAreah);
)

A = Matrix( 2,2, [0, 1, -k/m, -¢c/m]);
evals := LinearAlgebra[Eigenvalues](A);
evall := [ evals[1] 1;

eval2 := [ evals[2] 1;
U
rl := evalf( Re(evals[1]) );

il := evalf( Im(evals[1]) );

r2 := evalf( Re(evals[2]) );

i2 := evalf( Im(evals[2]) );

ri :=[rl, i1, r2, i2];
o

if evalb(rl <0 ) and evalb( r2 < 0 ) then
ifil =0 o0ori2 =0 then

DocumentTools[Do]( % TextArea6 ="0O00000O0O0OOOOOOO" )

else

DocumentTools[Do]( % TextArea6 ="0O000O0OOOOOOO");

end if;

elif evalb( rl > 0 ) or evalb(r2 > 0 ) then
if il = 0 ori2 =20 then
DocumentTools[Do]( % TextAreab ="0OO0ODO0OOOOOOOO");
else

DocumentTools[Do]( % TextArea6 ="O0000OOOOOOO");

end if;
end if;
B oo e e e e e e e e eee e
deqgl := diff(x(t), t) = v(t);
deq2 := diff(v(t), t) = -(k/m)*x(t) - (c/m)*v(t);
B e o e e e e e e e e eemee— o

ics := {x(0)=x0, D(x)(0)=dx0};
= dsolve( {deqgl, deg2} union ics );
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pltl := plot( eq, t=0..et, y=-10..10 );

plt2a := plots[complexplot]( evall, x=-5..5, y=-5..5, style=point,
symbolsize=24, color=red );

plt2b := plots[complexplot]( eval2, x=-5..5, y=-5..5, style=point,
symbolsize=24, color=blue );

DocumentTools[Do]( %Plot0 = plots[display]( [ plt2a, plt2b ] ) );
DocumentTools[Do]( %Plotl = pltl );

| end proc: # plotSim
| > # terminator

VDDDDDDDDDDDDDDDDDDDD
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